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TNPSC GROUP I – TEST BATCH 2022 
TEST VI – 6TH TO 12TH STD ECONOMICS 

 

1. Who prosperous lives and of enjoyment knows no bound, 
His seeming wealth, departing, nowhere shall be found. 
In the above Thirukkural, Tiruvallur emphasizes? 
a. Savings   b. Knowledge of wealth  c. Limit of consumption 
d. Distribution  e. Answer not known 
“mstwpe;J thohjhd; tho;f;if AsNghy  
tpy;yhfpj; Njhd;whf; nfLk;”> 
Nkw;fz;l Fwspy; jpUts;Stu; czu;j;JtJ? 
a. Nrkpg;G   b. nry;tk; gw;wpa mwpT  c. EfUk; msT   
d. gfpu;T   e. tpil njhpatpy;iy 
 

2. Consider the following statements 
i. More than 50 percentage of the worlds’ population live in villages. 
ii. In Tamilnadu, 47% of the people live in cities. 
a. i, ii are correct  b. i only correct  c. ii only correct    
d. i, ii are incorrect  e. Answer not known 
gpd;tUk; $w;Wfis Ma;f. 
i. cyfpd; 50% -f;Fk; mjpfkhd kf;fs; fpuhkq;fspy; tho;fpd;wdu;. 
ii. jkpo;ehl;by; 47% kf;fs; efuq;fspy; tho;fpd;wdu;. 
a. i, ii rup   b. i kl;Lk; rup   c. ii kl;Lk; rup    
d. i, ii jtW   e. tpil njhpatpy;iy 

 

3. Tertiary activities include. 
i. Transport   ii. Food Processing  iii. Banking Services 
iv. Communication  v. Trade 
a. i, ii, iii, iv   b. i, iii, iv, v   c. i, ii, iv  
d. all the above  e. Answer not known 
%d;whk; epiyj; njhopy;fs; vtw;iw cs;slf;fpaJ? 
i. Nghf;Ftuj;J  ii. czTgjg;gLj;jy;  iii. tq;fpNrit 
iv. njhiyj;njhlu;;G  v. tu;j;jfk; 
a. i, ii, iii, iv   b. i, iii, iv, v   c. i, ii, iv  
d. Nkw;$wpa midj;Jk; e. tpil njhpatpy;iy 
 

4. Which of the following pair is correctly matched? 
i. Form Utility – conversion of cotton into clothes. 
ii. Place Utility – Transportation of rice to Tamilnadu. 
iii. Time Utility – Storage of agricultural commodities 
a. i, ii, iii  b. i, ii  c. ii, iii  d. i, iii  e. Answer not known 
gpd;tUtdtw;Ws; rhpahfg; nghUe;jpAs;s ,izfs; vit? 
i. tbtg; gad;ghL - gUj;jpia Milfshf khw;WtJ 
ii. ,lg;gad;ghL - mhprp jkpo;ehl;bw;F nfhz;L nry;Yjy; 
iii. fhyg;gad;ghL - czTg;nghUl;fs; Nrkpg;G 
a. i, ii, iii  b. i, ii  c. ii, iii  d. i, iii  e. tpil njhpatpy;iy 
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5. Most of the Gross Domestic Product of India is contributed by. 
a. Primary sector  b. Secondary sector   c. Tertiary sector   
d. Both b & c   e. Answer not known 
,e;jpahtpy; nkhj;j cs;ehl;L cw;gj;jpapy; ngUk;gq;F tfpg;git. 
a. Kjd;ikj;Jiw  b. ,uz;lhk; epiyj;Jiw  c. %d;whk;epiyj;Jiw  
 d. (b) kw;Wk; (c)  e. tpil njhpatpy;iy 

 
6. Which of the following is/are correctly matched pairs? 

i. Primary factors   - land and labour 
ii. Derived factors   - capital and land 
iii. Fourth factor of production - Entrepreneurship and organization 
a. i, ii    b. ii, iii   c. i, iii   
d. all the above  e. Answer not known 
gpd;tUtdtw;Ws; rupahfg; nghUe;jpa ,izfs; vit? 
i. Kjd;ik cw;gj;jpf; fhuzpfs; - epyk; kw;Wk; ciog;G 
ii. ngwg;gl;l cw;gj;jpf; fhuzpfs; - %yjdk; kw;Wk; epyk; 
iii. ehd;fhtJ cw;gj;jpf; fhuzp - njhopy; KidNthu; kw;Wk; epWtdk; 
a. i, ii    b. ii, iii   c. i, iii   
d. Nkw;$wpa midj;Jk; e. tpil njhpatpy;iy 
 

7. Which of the following is the work of Adam Smith? 
i. The theory of Moral Sentiments (1759). 
ii. An inquiry into the nature and causes of the wealth of nations (1776). 
iii. Principles of Economics. 
a. i, ii, iii  b. i, iii  c. i, ii  d. ii, iii e. Answer not known 
gpd;tUtdtw;Ws; Mlk;];kpj;jpd; gilg;Gfs; vit? 
i. ed;ndwp fUj;J czu;Tf; nfhs;if (1759) 
ii. ehLfspd; nry;tKk;> mtw;iw cUthf;Ffpd;w fhuzpfSk; Xu; Ma;T (1776). 
iii. nghUshjhuf; nfhs;iffs;. 
iv. a. i, ii, iii  b. i, iii  c. i, ii  d. ii, iii e. tpil njhpatpy;iy 

 
8. Who introduced the concept “Division of labour” in the economics? 

a. Alfred Marshall  b. Samuelson   c. Adam Smith   
d. Amartya Sen  e. Answer not known 
‘NtiygFg;G Kiwia’ mwpKfg;gLj;jpatu; ahu;? 
a. My;gpul; khu;~y;  b. rhKNty;rd;  c. Mlk;];kpj;    
d. mku;j;jpahtd;  e. tpil njhpatpy;iy 
 

9. Which of the following is the passive factor of production? 
a. land    b. Entrepreneur  c. labour    
d. capital   e. Answer not known 
gpd;tUtdtw;wpy; ve;j xd;W nrayw;w cw;gj;jpf; fhuzp? 
a. epyk;   b. njhopy; KidNthu; c. ciog;G   
d. %yjdk;   e. tpil njhpatpy;iy 
 

10. Which of the following statements is/are correct? 
i. Division of labour will increase the growth of handicrafts. 
ii. Capital lasts over time. 
iii. In modern times an entrepreneur is called as the changing agent of the society. 
a. i, ii, iii  b. i, ii  c. ii, iii d. i, iii  e. Answer not known 
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gpd;tUk; $w;Wfspy; rupahdit vit? 
i. Ntiy gFg;G Kiw iftpidg; nghUl;fspd; tsu;r;rpia mjpfupf;fpwJ. 
ii. %yjdk; gy Mz;Lfs; ePbf;Fk;. 
iii. jw;fhyj;jpy;> njhopy;KidNthu;> “rKjha khw;wk; fhZk; Kftu;” vd 

miof;fg;gLfpwhu;. 
a. i, ii, iii  b. i, ii  c. ii, iii d. i, iii  e. tpil njhpatpy;iy 
 

11. The Minimum Possible money that is spent in the collection of taxes is referred as ___. 
a. canon of equality  b. canon of convenience  c. canon of certainity  
d. canon of economy e. Answer not known 
tupt#ypg;gjw;fhf nrytplg;gLk; Fiwe;jj; njhif ___ vd;W miof;fg;gLfpd;wJ. 
a. rkj;Jttpjp  b. cWjpg;ghl;Ltpjp   c. trjp tpjp    
d. rpf;fd tpjp  e. tpil njhpatpy;iy 
 

12. Which of the following is/are indirect taxes? 
i. Sales tax  ii. Corporate tax iii. Customs duty  iv. Excise duty 
a. i, ii, iii  b. ii, iii, iv    c. i, iii, iv   
d. iii, iv  e. Answer not known 
gpd;tUtdtw;Ws; kiwKf thpfs; vit? 
i. tpw;gid thp ii. epWtdthp  iii. Rq;f thp   iv. fyhy; thp 
a. i, ii, iii  b. ii, iii, iv    c. i, iii, iv   
d. iii, iv  e. tpil njhpatpy;iy 
 

13. Which of the following is/are direct taxes? 
i. Wealth tax  ii. Capital gains tax  iii. Corporate tax iv. Value added tax 
a. i, ii, iii   b. ii, iii, iv    c. i, ii, iv   
d. all the above  e. Answer not known 
gpd;tUtdtw;Ws; Neu;Kf tupfs; vit? 
i. nry;t tup  ii. %yjd Mjhatup  iii. epWtd tup iv. kjpg;G $l;Ltup 
a. i, ii, iii   b. ii, iii, iv   c. i, ii, iv   
d. Nkw;fz;l midj;Jk; e. tpil njhpatpy;iy 
 

14. Consider the following statements. 
I. Value Added Tax was introduced first in Haryana in 2003. 
II. GST is particularly designed to replace the indirect taxes imposed by the central and 

state. 
a. I, II are correct  b. I only is correct  c. II only is correct   
d. I, II are incorrect  e. Answer not known 
gpd;tUk; $w;Wfis Muha;f. 
I. 2003> Mk; Mz;by; ,e;jpa khepykhd `upahdhtpy; Kjd;Kjypy; kjpg;G $l;Ltup 

(VAT) mwpKfg;gLj;jg;gl;lJ. 
II. kj;jpa khepy muRfshy; tpjpf;fg;gLk; kiwKf tupfSf;F khw;whf ruf;F kw;Wk; 

Nrit tup tbtikf;fg;gl;Ls;sJ. 
a. I, II rup   b. I kl;Lk; rup   c. II kl;Lk; rup   
d. I, II jtW 
 

15. Which of the following items are exempted from GST? 
i. Petroleum products.  ii. Alcoholic drinks 
iii. Electricity    iv. Vegetables and food grains 
a. i, ii, iii   b. i, iii    c. i, ii, iv   
d. all the above  e. Answer not known 
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GST -d; fPo; tuhjit vit? 
i. ngl;Nuhypag; nghUl;fs;  ii. My;f`hy; 
iii. kpd;rhuk;    iv. fha;fwp kw;Wk; czT jhdpaq;fs;. 
a. i, ii, iii b. i, iii  c. i, ii, iv d. midj;Jk;  e. tpil njhpatpy;iy 

 
16. The government ability to raise taxes is called its ____. 

a. fiscal capacity  b. Budget capacity   c. Revenue capacity   
d. Monetary capacity e. Answer not known 
Xu; murpd; jpwDf;Nfw;g tupfis cau;j;JtJ mjd; ___ vd;wiof;fg;gLfpwJ. 
a. epjpj; jpwd;   b. gl;[l; jpwd;   c. tUtha; jpwd;   
d. gzj;jpwd;   e. tpil njhpatpy;iy 

 
17. Consider the following statements. 

I. Shershah Suri issued a silver coin of 178 gms known as Rupiya. 
II. The British gold coins were termed as Angelina. 
a. I, II are correct  b. I is correct    c. II is correct   
d. I, II are incorrect  e. Answer not known 
gpd;tUk; $w;Wfis Muha;f. 
I. n~u;~h #up 178 fpuhk; vilAs;s &gpah vd;w nts;sp ehzaq;fis ntspapl;lhu;. 
II. Mq;fpNyau;fs; jq;f ehzaq;fis VQ;rypdh vd;Wk; mioj;jdu;. 
a. I, II rup   b. I kl;Lk; rup    c. II kl;Lk; rup  
d. I, II jtW   e. tpil njhpatpy;iy 
 

18. Consider the following statements. 
I. The value of money is directly proportional to the price level. 
II. Internal value of money refers to the purchasing power of money over domestic 

goods and services. 
III. The external value of money refers to the purchasing power of money over foreign 

goods and services. 
a. I, II are correct  b. I only is incorrect  c. I, II III are correct  
d. II, III are incorrect e. Answer not known 
gpd;tUk; $w;Wfis Muha;f. 
I. gzj;jpd; kjpg;Gk; tpiyapd; msTk; Neu;kiwj; njhlu;GilaJ. 
II. gzj;jpd; mfkjpg;G vd;gJ cs;ehl;bYs;s gz;lkw;Wk; gzpfspd; thq;Fk; rf;jpiaf; 

Fwpf;Fk;. 
III. gzj;jpd; Gwkjpg;G vd;gJ ntsp ehl;bYs;s gz;l kw;Wk; gzpfis thq;Fk; 

rf;jpiaf; Fwpf;Fk;. 
a. I, II rup   b. I kl;Lk; jtW   c. I, II, III rhp   
d. II, III jtW   e. tpil njhpatpy;iy 

 

19. Match the following 
Country   Currency 
A. Germany  1. Pound sterling 
B. Japan  2. Riyal 
C. Malaysia  3. Yen 
D. Saudi Arabia 4. Ringgit 
E. UK   5. European Euro 
 A B C D E 
a. 1 3 2 4 5 
b. 5 3 4 2 1 
c. 5 4 2 3 1 
d. 1 3 4 2 5   e. Answer not known 
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nghUj;Jf 
ehL   ehzak; 
A. n[h;kdp  1. gTz;l; ];nlh;ypq; 

B. [g;ghd;  2. hpahy; 
C. kNyrpah  3. nad; 
D. nrsjp mNugpah 4. hpq;fpl; 
E. ,q;fpyhe;J  5. INuhg;gpa a+Nuh 
 A B C D E 
a. 1 3 2 4 5 
b. 5 3 4 2 1 
c. 5 4 2 3 1 
d. 1 3 4 2 5 
e. tpil njhpatpy;iy 

 
20. Which of the following is/are the primary functions of money? 

i. Medium of exchange 
ii. Measure of value 
iii. Store of purchasing power 
a. i, ii, iii  b. i, ii  c. ii, iii  d. i, iii  e. Answer not known 
gpd;tUtdtw;Ws; gzj;jpd; Kf;fpag; gzpfs; vit? 
i. gupkhw;wf;fUtp 
ii. kjpg;gpd; msTNfhy; 
iii. thq;Fk; rf;jpapd; epiyfyd; 
a. i, ii, iii  b. i, ii  c. ii, iii  d. i, iii  e. tpil njhpatpy;iy 
 

21. Choose the correct statements. 
I. Inflation refers to the rise in prices with the fall in the money value 
II. Deflation refers to the fall in prices with the decrease in the money value 
a. I, II are correct  b. I only is correct  c. II only is correct   
d. I, II are incorrect  e. Answer not known 
rhpahd $w;wpidf; fz;lwpf 
I. gztPf;fk; vd;gJ tpiyfs; cah;e;J> gzj;jpd; kjpg;G tPo;r;rpailtijAk; 

Fwpf;Fk; 
II. gzthl;lk; vd;gJ tpiyfs; Fiwe;J gzj;jpd; kjpg;G Fiwtijf; Fwpf;Fk; 
a. I, II rhp   b. I kl;Lk; rhp  c. II kl;Lk; rhp   
d. I, II jtW   e. tpil njhpatpy;iy 
 

22. The Government of India announced demonetization of all `500 and `1000 bank notes 
against black money on _____. 
a. 8 November, 2016 b. 7 November, 2016  c. 12 November, 2016  
d. 18 November, 2016 e. Answer not known 
,e;jpa murhq;fk; fUg;G gzj;jpw;F vjpuhf midj;J &.500 kw;Wk; & 1000 
Nehl;Lf;fis gzkjpg;gpog;G nra;j ehs; _____. 
a. 8 etk;gu;> 2016  b. 7 etk;gu;> 2016   c. 12 etk;gu;> 2016   
d. 18 etk;gu;> 2016  e. tpil njhpatpy;iy 
 

23. Which of the following is wrongly matched? 
i. Prevention of money laundering act – 2003. 
ii. Prevention of corruption act – 1988. 
iii. The Real estate (Regulation and Development) act, - 2015 
iv. The undisclosed foreign income and Asset Bill – 2015. 
a. i   b. i, iii  c. iii  d. ii e. Answer not known 
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gpd;tUtdtw;Ws; jtwhfg; nghUe;jpait vit? 
i. gzNkhrb eltbf;if jLg;Gr; rl;lk; - 2003 
ii. Coy; jLg;Gr;rl;lk; - 1988 
iii. hpay; v];Nll; (xOq;FKiw kw;Wk; Nkk;ghL) rl;lk; - 2015> 
iv. ntspf;nfhzug;glhj ntspehl;L tUkhdk; kw;Wk; nrhj;J kNrhjh – 2015. 
a. i   b. i, iii  c. iii  d. ii  e. tpil njhpatpy;iy 
 

24. The planning commission was formed by a cabinet resolution in ____ 
a. March 1950  b. April 1950   c. March 1951  
d. April 1951   e. Answer not known 
jpl;lf;FO mikf;f mikr;ruitf; FOthy; jPh;khdk; epiwNtw;wg;gl;lJ _______ 
a. khh;r;> 1950   b. Vg;uy; 1950   c. khh;r; 1951  
d. Vg;uy; 1951   e. tpil njhpatpy;iy 
 

25. Which of the following is/are emphasize the development of the public sector 
enterprises to meet Nehru’s National Industrial policy? 
i. First Five year plan (1951-56) 
ii. Second Five year plan (1956 - 61) 
iii. Industrial Policy, 1948 
iv. Industrial Policy, 1956 
a. i, ii   b. ii, iv c. i, iii  d. ii  e. Answer not known 
gpd;tUtdtw;Ws; NeUtpd; Njrpa njhopy;kakhf;fy; nfhs;ifia G+u;j;jp nra;a 
nghJj;Jiw epWtdq;fspd; tsu;r;rpia typAWj;jpait? 
i. Kjy; Ie;jhz;Lj; jpl;lk; (1951-56) 
ii. ,uz;lhk; Ie;jhz;Lj; jpl;lk; (1956-61) 
iii. njhopy;Jiw nfhs;if – 1948 
iv. njhopy;Jiw nfhs;if – 1956 
a. i, ii   b. ii, iv  c. i, iii  d. ii e. tpil njhpatpy;iy 

 
26. Who is called as the “Father of Public Sector undertakings in India”? 

a. V.K.R. Varadaraja Rao  b. P.C. Mahalanobis  c. V. Krishnamoorthy  
d. Krishna Menon   e. Answer not known 
“,e;jpahtpd; nghJj;Jiw epWtdq;fspd; je;ij” vd;W miof;fg;gLgtu;? 
a. V.K. tujuh[ uht;   b. P.C. nk`yNdhgp]; c. V. fpU~;z%u;j;jp  
d. fpU~;zNkdd;   e. tpil njhpatpy;iy  
 

27. Choose the correct statements about the Industrial policy of 1991? 
i. It deliberated the disinvestment of public sector. 
ii. It allowed greater Freedom to the private sector. 
iii. Foreign Direct Investment was invited from business houses outside India. 
a. i, ii, iii  b. i, iii  c. ii, iii  d. i, ii  e. Answer not known 
njhopw;Jiwf; nfhs;if 1991 Fwpj;J rhpahd $w;wpidj; Njh;e;njL 
i. nghJj;Jiw gq;F tpyfiy Cf;Ftpj;jJ 
ii. jdpahh; Jiwf;F mjpf Rje;jpuj;ij mDkjpj;jJ 
iii. ,e;jpahtpw;F ntspNa cs;s tzpf epWtdq;fspypUe;J me;epa Neub 

KjyPl;bw;F miog;GtpLj;jJ 
a. i, ii, iii  b. i, iii  c. ii, iii  d. i, ii  e. tpil njhpatpy;iy 
 

28. Which of the following has classified the industries into three categories schedule A, B & 
C? 
a. Industrial policy 1948 b. Industrial policy 1956  c. Industrial policy 1980  
d. Industrial policy 1991 e. Answer not known 
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gpd;tUtdtw;Ws; ve;j njhopy;Jiwf; nfhs;if %yk; epWtdq;fs; ml;ltiz A, B 
kw;Wk; C vd tifg;gLj;jg;gl;Ls;sd? 
a. njhopy; Jiw nfhs;if 1948  b. njhopy; Jiw nfhs;if 1956 
c. njhopy; Jiw nfhs;if 1980  d. njhopy; Jiw nfhs;if 1991 
e. tpil njhpatpy;iy 
 

29. Choose the correct statements about NITI Aayog? 
i. It replaced the 65 years old planning commission 
ii. It has power to allocate funds to ministries and states. 
iii. It was created on January 1, 2015. 
a. i, ii    b. ii, iii   c. i, iii   
d. all the above  e. Answer not known 
epjpMNahf; Fwpj;J rupahd $w;Wfs; vit? 
i. ,J 65 Mz;Lfs; goikahd jpl;lf; FOTf;F khw;whf mikf;fg;gl;lJ. 
ii. mikr;rq;fSf;Fk; khepyq;fSf;Fk; epjp xJf;f ,f;FOtpw;F mjpfhuk; cz;L. 
iii. ,J [dthp 1> 2015,y; epWtg;gl;lJ. 
a. i, ii    b. ii, iii   c. i, iii   
d. Nkw;$wpa midj;Jk; e. tpil njhpatpy;iy 

 
30. Consider the following statements. 

Assertion (A): NITI Aayog is referred as the Think Tank of India. 
Reason (R):  NITI Aayog integrates all the social sector initiatives of the  
   centre, state and local bodies. 
a. Both (A) and (R) are true and (R) is the correct explanation of (A). 
b. (A) is true, but (R) is false 
c. (A) is false, but (R) is true 
d. Both (A) and (R) are true and (R) is not the correct explanation of (A) 
e. Answer not known 
gpd;tUtdtw;iw Muha;f. 
$w;W(A): epjp MNahf; ,e;jpahtpd; “kjpAiuaff; FO” vd mwpag;gLfpwJ. 
fhuzk; (R): ,e;j mikg;G kj;jpa> khepy kw;Wk; cs;shl;rp mikg;Gfspd; r%fJiw  

Kaw;rpfis xUq;fpizg;gjpy; nghUj;jkhd jsj;ij Vw;gLj;Jk;. 
a. (A) kw;Wk; (R) ,uz;Lk; rup> NkYk; (R) vd;gJ (A) tpw;F rupahd tpsf;fk;. 
b. (A) rup> Mdhy; (R) jtW 
c. (A) jtW> Mdhy; (R) rup 
d. (A) kw;Wk; (R) ,uz;Lk; rup> NkYk; (R) vd;gJ (A) tpw;F rupahd tpsf;fk; my;y 
e. tpil njhpatpy;iy 

 
31. Choose the correct statements about Sarva Siksha Abhiyan (SSA)? 

i. It was introduced in 2000-2001. 
ii. India’s Flagship Programme. 
iii. It is implemented for making free and compulsory education with life skill to the 

children of the age group of 6-14years with life skills. 
a. i, ii, iii  b. i, ii  c. ii, iii  d. i, iii  e. Answer not known 
midtUf;Fk; fy;tp ,af;fk; (SSA) gw;wp rhpahd $w;wpidj; Njh;e;njL 
i. 2000-2001 ,y; mwpKfg;gLj;jg;gl;lJ 
ii. ,e;jpa murpd; Kjd;ik jpl;lj;jpd; mq;fk; 
iii. 6-14 taJila Foe;ijfSf;F tho;f;ifj; jpwd;fSld; $ba ,ytr kw;Wk; 

fl;lhaf; fy;tpia toq;Ftjw;fhf nray;gLj;jg;gl;lJ 
a. i, ii, iii  b. i, ii  c. ii, iii  d. i, iii  e. tpil njhpatpy;iy 
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32. The largest public sector employer in India is ____. 
a. Indian postal service   b. Indian Railways  c. Indian Armed Forces  
d. None of the above  e. Answer not known 
,e;jpahtpy; mjpf mstpy; gzpahsu;fisf; nfhz;l nghJj;Jiw epWtdk;? 
a. ,e;jpa jghy; Jiw  b. ,e;jpa uapy;Nt  c. ,e;jpa tpkhdg;gil  
d. Nkw;$wpa VJkpy;iy  e. tpil njhpatpy;iy 
 

33. As per 2017 data, which of the following is/are correct? 
i. Maharatna Industries – 8 
ii. Navratna Industries – 19 
iii. Miniratna Industries - 74 
a. i, ii, iii  b. i, ii  c. i, iii  d. ii, iii e. Answer not known 
gpd;tUtdtw;Ws; 2017- Gs;sptptug;gb rupahdit vit? 
i. kfhuj;dh njhopyfq;fs; - 8 
ii. etuj;dh njhopyfq;fs; - 16 
iii. kpdpuj;dh njhopyfq;fs; - 74 
a. i, ii, iii  b. i, ii  c. i, iii  d. ii, iii e. tpil njhpatpy;iy 

 
34. The term Navratna was adopted in the courts of _____ 

a. Krishnadevaraya  b. Vikramaditya   c. Akbar    
d. Both b & c   e. Answer not known 
etuj;dh vd;w nrhy;yhdJ ___________ mitapy; tof;fj;jpy; ,Ue;jJ 
a. fpU~;zNjtuhah;  b. tpf;ukhjpj;ad;   c. mf;gh;    
d. a kw;Wk; b   e. tpil njhpatpy;iy 

 
35. Choose the correct statements. 

i. America extended assistance through its public law 480 scheme to India during 
1960s. 

ii. This situation was popularly known as “Ship to mouth” existence. 
a. i, ii   b. i  c. ii  d. none e. Answer not known 
rupahd $w;wpidj; Nju;e;njL. 
i. 1960fspd; Kw;gFjpapy; mnkupf;fh jdJ nghJ rl;lk; 480 jpl;lj;jpd; %yk; 

,e;jpahTf;F cjtp toq;fpaJ. 
ii. ,e;j epiyik gpugykhf ‘fg;gYf;F thapy;’ ,Ug;G vd;W miof;fg;gl;lJ. 
a. i, ii   b. i  c. ii  d. VJkpy;iy   e. tpil njhpatpy;iy 
 

36. India could not succeed in attaining self-sufficiency in the production of _______. 
a. Wheat  b. Rice    c. Pulses and oil seeds   
d. Vegetables  e. Answer not known 
,e;jpah ____ cw;gj;jpapy; jd;dpiwT ngWtjpy; ntw;wp ngwtpy;iy. 
a. NfhJik  b. muprp   c. gUg;G kw;Wk; vz;nza; tpj;Jf;fs;  

d. fha;fwpfs;  e. tpil njhpatpy;iy 
 
37. Consider the following statements. 

I. Tamilnadu has adopted an ‘Universal’ PDS. 
II. Under Universal PDS all the family ration card holders are entitled to the supplies 

from PDS. 
a. I, II are correct  b. I is correct    c. II is correct   
d. I, II are incorrect  e. Answer not known 
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gpd;tUk; $w;Wfis Ma;f 
I. jkpo;ehL cyfshtpa nghJ toq;fy; Kiwia Vw;Wf;nfhz;Ls;sJ 
II. cyfshtpa nghJ toq;fy; Kiwapd; fPo; FLk;g toq;fy; ml;il 

ngw;wpUg;gth;fs; midtUf;Fk; czT jhdpaq;fs; toq;fg;gLfpwJ 
a. I, II rhp   b. I rhp     c. II rhp    
d. I, II jtW   e. tpil njhpatpy;iy 
 

38. Choose the correct statements about the National Food Security Act is/are correct? 
i. It was passed by Indian parliament in 2013. 
ii. It covers 60% of Urban households. 
iii. It covers 75% of the rural households. 
a. i, ii, iii  b. i, ii  c. ii, iii  d. i, iii  e. Answer not known 
gpd;tUk; $w;Wfspy; Njrpa czTg;ghJfhg;Gr; rl;lk; gw;wp rhpahdit vit? 
i. ,r;rl;lk; 2013-,y; ,e;jpag; ghuhSkd;wj;jhy; epiwNtw;wg;gl;lJ 
ii. ,r;rl;lk; 60% efh;g;Gwf; FLk;gq;fis cs;slf;fpaJ 
iii. ,J 75% fpuhkg;Gwf; FLk;gq;fis cs;slf;fpaJ 
a. i, ii, iii  b. i, ii  c. ii, iii  d. i, iii  e. tpil njhpatpy;iy 
 

39. In India cooperative societies are in ____ structure. 
a. Two-tier   b. Three-tier    c. Four-tier   
d. Five-tier   e. Answer not known 
,e;jpahtpy; ___ mikg;Gfspy; $l;LwT rq;fq;fs; mikf;fg;gl;Ls;sd. 
a. ,uz;L mLf;F  b. %d;wLf;F    c. ehd;F mLf;F   
d. Ie;J mLf;F  e. tpil njhpatpy;iy 

 
40. Consider the following statement. 

I. Purchasing power increases with increasing price level. 
II. Purchasing power is the value of currency expressed in terms of goods and services 

that one unit of money can buy. 
a. I, II are correct  b. I is correct   c. II is correct   
d. I, II are incorrect  e. Answer not known 
gpd;tUk; $w;Wfis Muha;f 
I. ehzaj;jpd; kjpg;G tpiy VWk;NghJ thq;Fk; jpwdpd; kjpg;Gk; caUfpwJ 
II. thq;Fk; jpwd; vd;gJ xU myF gzk; thq;ff;$ba nghUl;fs; my;yJ 

Nritfspd; mstpd; mbg;gilapy; ntspg;gLj;jg;gLtJ 
a. I, II rhp   b. I rhp   c. II rhp   
d. I, II jtW   e. tpil njhpatpy;iy 
 

41. Which of the following is one of the method to monitor purchasing power? 
a. Wholesale Price Index   b. Producer Price Index 
c. Consumer Price Index   d. Industrial Production Index 
e. Answer not known 
gpd;tUtdtw;Ws; ve;j xd;W thq;Fk; rf;jpiaf; fz;fhzpg;gjw;fhd Kiw? 
a. nkhj;jtpw;gid tpiy FwpaPl;L vz; b. cw;gj;jpahsu; tpiy FwpaPl;L vz; 
c. Efu;Nthu; tpiy FwpaPl;L vz;  d. njhopw;rhiy cw;gj;jp FwpaPl;L vz; 
e. tpil njhpatpy;iy 
 

42. The purchasing power increases with ____. 
i. Decreasing the price of goods 
ii. Increasing the price of goods 
iii. Increasing the production and supply of goods. 
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a. i, ii    b. ii, iii   c. i, iii   
d. all the above  e. Answer not known 
thq;Fk; jpwd; ______ cld; mjpfhpf;fpwJ 
i. nghUl;fspd; tpiy FiwT 
ii. nghUl;fspd; tpiy mjpfhpg;G 
iii. nghUl;fspd; cw;gj;jp kw;Wk; gfph;it mjpfhpg;gJ 
a. i, ii    b. ii, iii   c. i, iii   
d. ,it midj;Jk;  e. tpil njhpatpy;iy 

 
43. Which of the following statements about Multidimensional Poverty Index (MPI) is/are 

correct? 
i. It was launched by UNDP and OPHI in 2010. 
ii. It has Ten Indicators. 
iii. India has reduced its poverty rate from 55% to 28% in 10 years. 
a. i, ii, iii  b. i, iii  c. i, ii  d. ii, iii e. Answer not known 
gpd;tUk; $w;Wfspy; gyghpkhz tWik FwpaPL gw;wp rhpahdit vit? 
i. ,J 2010Mk; Mz;by; UNDP kw;Wk; OPHI Mfpatw;why; njhlq;fg;gl;lJ 
ii. ,J gj;J FwpaPLfisf; nfhz;L fzf;fplg;gLfpwJ 
iii. ,jd;gb ,e;jpah jdJ tWik tpfpjj;ij 10 Mz;Lfspy; 55% ypUe;J 28% Mf 

Fiwe;Js;sJ 
a. i, ii, iii  b. i, iii  c. i, ii  d. ii, iii e. tpil njhpatpy;iy  
 

44. According to the Multi-dimensional Poverty Index 2018 Report in Tamilnadu, which of 
the following is/are correct? 
1. First Rank – Chennai  2. Second Rank – Kancheepuram 
3. 31st Rank – Perambalur  4. 32nd Rank – Dharmapuri 
a. 1, 2   b. 1, 3  c. 3, 4  d. 2, 4  e. Answer not known 
jkpo;ehl;bd; gy ghpkhz tWik FwpaPL mwpf;if 2018,d; gb rhpahdit vit? 
1. Kjyplk;  - nrd;id 
2. ,uz;lhkplk;  - fhQ;rpGuk; 
3. 31tJ ,lk; - nguk;gY}h; 
4. 32tJ ,lk; - jh;kGhp 
a. 1, 2   b. 1, 3  c. 3, 4  d. 2, 4  e. tpil njhpatpy;iy 
 

45. Who quoted the state of Tamilnadu is good in achieving the status of a “Malnutrition 
Free State” in India? 
a. Abhijit Banerjee  b. Jean Dreze   c. Amartya Sen   
d. Raghu Ram Rajan e. Answer not known 
“Cl;lr;rj;J FiwghL ,y;yhj khepyk;” vd;w epiyia miltjpy; jkpo;ehL Kd;dpiy 
tfpf;fpd;wdtu;? 
a. mgp[pj; Ngdu;[p  b. [Pd; l;uP];   c. mku;j;jpahnrd;   
d. uFuhk; uh[d;  e. tpil njhpatpy;iy 

 
46. Consider the following statements. 

I. The government of Tamilnadu’s successive budget outlays for nutrition and health 
are the highest in the country. 

II. “A Malnutrition Free Tamilnadu” scheme guides the state’s long-term multi-sectoral 
strategy for eliminating malnutrition. 

a. I, II are correct  b. I is correct   c. II is correct    
d. I, II are incorrect  e. Answer not known 
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gpd;tUk; $w;Wfis Muha;f 
I. Cl;lr;rj;J kw;Wk; MNuhf;fpaj;jpw;fhd jkpof murpd; mLj;jLj;j tuT 

nryTj;jpl;l nrytpdq;fs; ehl;bNyNa kpf mjpfk; 
II. ‘Cl;lr;rj;Jf; FiwghL ,y;yhj jkpo;ehL’ vd;w jkpo;ehl;bd; nfhs;if> 

Cl;lr;rj;Jf; Fiwghl;il mfw;Wtjw;fhf khepyj;jpd; ePz;lfhy Jiwf; 
nfhs;iffis nray;gLj;JfpwJ 

a. I, II rhp b. I rhp c. II rhp d. I, II jtW  e. tpil njhpatpy;iy 
 

47. The objectives of PTMGRNMP is  
i. Combating malnutrition among children 
ii. To increase primary school enrolment. 
iii. To reduce the dropout rates. 
a. i, ii, iii  b. i, ii  c. ii, iii  d. i, iii  e. Answer not known 
PTMGRNMP jpl;lj;jpd; Nehf;fk;? 
i. Foe;ijfspilNa Cl;lr;rj;J Fiwghl;il fistJ 
ii. Muk;gfy;tp Nrh;f;ifia mjpfhpg;gJ 
iii. fy;tp ,ilepw;wiy Fiwg;gJ 
a. i, ii, iii  b. i, ii  c. ii, iii  d. i, iii  e. tpil njhpatpy;iy 
 

48. The objectives of Dr. Muthulakshmi Reddy Maternity Benefit Scheme. 
i. Financial assistance to poor pregnant women. 
ii. To meeting expenses of nutritious diet. 
iii. To avoid low birth weight of new born babies. 
a. i, ii, iii  b. i, ii  c. ii, iii  d. i, iii  e. Answer not known 
lhf;lh;. Kj;Jnyl;Rkp nul;b kfg;NgWj; jpl;lj;jpd; Nehf;fk; 
i. Vio fh;g;gpzpg; ngz;fSf;F epjpAjtp toq;Fjy; 
ii. rf;jpkpf;f cztpw;fhd nryTfis Nkw;nfhs;Sjy; 
iii. Gjpajhf gpwf;Fk; Foe;ijfspd; Fiwe;j vil gpwg;gpidj; jtph;g;gJ 
a. i, ii, iii  b. i, ii  c. ii, iii  d. i, iii  e. tpil njhpatpy;iy 
 

49. Choose the correct statements about Chief Ministers Comprehensive Health Insurance 
Scheme? 
i. Aim to provide universal healthcare to all 
ii. Providing free medical and surgical treatment in government hospitals only. 
iii. The annual income of beneficiary should be less than ` 72,000. 
a. i, ii, iii  b. i, ii  c. i, iii  d. ii, iii e. Answer not known 
Kjyikr;rupd; tpupthd Rfhjhu fhg;gPl;L jpl;lk; gw;wp rupahd $w;Wfisj; Nju;e;njL. 
i. cyfshtpa cly;eyk; rhu;e;j Nrit 
ii. muR kUj;Jtkidfspy; kl;Lk; ,ytr kUe;J kw;Wk; rpfpr;irapid mspg;gJ. 
iii. gadhspfspd; Mz;L tUkhdk; `72000f;F Fiwthf ,Uf;f Ntz;Lk;. 
a. i, ii, iii  b. i, ii  c. i, iii  d. ii, iii e. tpil njhpatpy;iy 
 

50. The ‘Padhumaiyar Kuzhu’ in Tamilnadu was established for 
a. Women Empowerment 
b. Drawing adolescent girls into innovative programme. 
c. Providing financial assistance to self-help groups. 
d. Both a & b 
e. Answer not known 
jkpo;ehl;by; gJikau; FO cUthf;fg;gl;ljd; Nehf;fk;. 
a. ngz;fSf;F mjpfhukspj;jy; 
b. ,sk;gUt ngz;fis GJikahd mZFKiwfspy; <LgLj;JtJ 
c. Racjtp FOf;fSf;F epjpAjtp mspj;jy;. 
d. a & b 
e. tpil njhpatpy;iy 
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51. Which of the following is/are correctly matched pair?  
Scheme      Age group 
i. PMGYS      - 6 months to 36 months 
ii. Tamilnadu Integrated Nutrition Programme – 6 months to 36 months  
iii. Mid-Day Meal Programme   - 2 to 14 years old                                                                                                                  
a. i, ii, iii  b. i, ii  c. ii, iii  d. i, iii  e. Answer not known 
gpd;tUtdtw;Ws; rhpahfg; nghUe;jpait vit? 
jpl;lk;       Foe;ijfspd; taJ jFjp  
i. PMGYS       6 khjq;fs; Kjy; 36 khjq;fs; tiu 
ii. jkpo;ehL xUq;fpize;j Cl;lr;rj;J jpl;lk; 6 khjq;fs; Kjy; 36 khjq;fs; tiu 
iii. kjpa czTj;jpl;lk;    2 taJ Kjy; 14 taJ tiu 
a. i, ii, iii  b. i, ii  c. ii, iii  d. i, iii  e. tpil njhpatpy;iy 

 
52. Consider the following 

Assertion (A): In India, Income tax was introduced for the first time in 1860 by Sir James  
Wilson. 

Reason (R): It was introduced to meet the losses sustained by the Government on  
account of the mutiny of 1857. 

a. Both (A) and (R) are true and (R) is the correct explanation of (A). 
b. (A) is true but (R) is false 
c. (A) is false, but (R) is true 
d. Both (A) and (R) are true and (R) is not the correct explanation of (A). 
e. Answer not known 
gpd;tUtdtw;iw Ma;f. 
$w;W (A): ,e;jpahtpy; Kjd;Kjyhf tUkhdtup> 1860Mk; Mz;L ru; N[k;]; tpy;rd;  

vd;gtuhy; mwpKfg;gLj;jg;gl;lJ. 
fhuzk; (R): 1857-Mk; Mz;L fyfj;jpd; %yk; Vw;gl;l ,og;Gfis <Lfl;l murhq;fj;jpd;  

%yk; Nghlg;gl;l MizNa ,t;tup tpjpg;G. 
a. (A) kw;Wk; (R) ,uz;Lk; rup> NkYk; (R) vd;gJ (A) tpw;F rupahd tpsf;fk;. 
b. (A) rup> Mdhy; (R) jtW 
c. (A) jtW> Mdhy; (R) rup 
d. (A) kw;Wk; (R) ,uz;Lk; rup> NkYk; (R) vd;gJ (A) tpw;F rupahd tpsf;fk; my;y 
e. tpil njhpatpy;iy 

 
53. Who defined a direct tax as “one which is demanded from the very persons who, it is 

intended or desired should pay it”? 
a. Fisher   b. Milton Friedman   c. J.S. Mill   
d. J.M. Keynes  e. Answer not known 
“Neu;Kf tup vd;gJ ahu; kPJ tuptpjpf;fg;gl;lNjh mtNu mt;tupia nrYj;JtjhFk;. tup 
nrYj;JgtNu tupr;Rikia Vw;f Ntz;Lk;” vd;W $wpatu;? 
a. gp~u;   b. kpy;ld; g;uPl;Nkd;   c. N[.v];.kpy;   
d. J.M. fPd;];   e. tpil njhpatpy;iy 
 

54. Which of the following statements about Goods and service tax is/are correct? 
i. The GST was passed in parliament on 29th March 2017. 
ii. The act came into force on 1st July 2017. 
iii. It eliminates the cascading effect. 
iv. It is a multi-point tax. 
a. i, ii, iii  b. i, ii  c. iii, iv d. ii, iii, iv e. Answer not known 
gpd;tUk; $w;Wfspy; gz;lq;fs; kw;Wk; gzpfs; tup gw;wp rupahdit vit? 
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i. ,e;jpag; ghuhSkd;wj;jpy; khu;r; 29> 2017 Mk; Mz;L epiwNtw;wg;gl;lJ. 
ii. [_iy 1> 2017 Kjy; eilKiwf;F te;jJ. 
iii. ,J mLf;F tpisTfis jPf;FfpwJ. 
iv. gyKid tup 
a. i, ii, iii  b. i, ii  c. iii, iv d. ii, iii, iv e. tpil njhpatpy;iy 
 

55. Value Added Tax (VAT) was a ____. 
a. One Point tax  b. Two Point tax  c. Multipoint tax    
d. none of the above  e. Answer not known 
kjpg;Gf; $l;L tup vd;gJ ____. 
a. xU Kidtup  b. ,UKidtup  c. gyKidtup    
d. Nkw;$wpa VJkpy;iy e. tpil njhpatpy;iy 

 
56. Which of the following is wrongly matched? 

i. Progressive tax - Income tax 
ii. Proportional tax - Corporate tax 
iii. Regressive tax  - Sales tax 
a. i   b. ii, iii c. i, iii  d. none e. Answer not known 
gpd;tUtdtw;Ws; jtwhfg; nghUe;jpait vit? 
i. tsu;tPj tup - tUkhd tup 
ii. tpfpj tup  - epWtd tup 
iii. Nja;TtPj tup - tpw;gid tup 
a. i   b. ii, iii c. i, iii  d. VJkpy;iy e. tpil njhpatpy;iy 

 
57. Choose the wrongly matched pair. 

i. The Black money and Imposition of Tax Act - 2015 
ii. Benami Transactions Amendment Act – 2016. 
iii. Operation clean money – 2018. 
iv. The Real Estate Act – 2016. 
a. i, iii  b. ii, iv  c. iii  d. iv  e. Answer not known 
jtwhfg; nghUe;jpatw;iwj; Njh;e;njL 
i. fUg;Gg;gzk; kw;Wk; thptpjpj;jy; jpl;lk; - 2015 
ii. gpdhkp ghpth;j;jidfs; jpUj;jr; rl;lk; - 2016 
iii. Rj;jkhd gzr;nray;ghL – 2018 
iv. hpay; v];Nll; rl;lk; - 2016 
a. i, iii  b. ii, iv  c. iii  d. iv  e. tpil njhpatpy;iy 

 
58. Consider the following statements. 

Assertion (A): Taxation can be used as an instrument for controlling inflation. 
Reason (R): Through Taxation the government can control inflation by reducing the tax  

on the commodities. 
a. Both (A) and (R) are true and (R) is the correct explanation of (A). 
b. (A) is true but (R) is false. 
c. (A) is false but (R) is true. 
d. Both (A) and (R) are true and (R) is not the correct explanation of (A). 
e. Answer not known 
gpd;tUk; $w;Wfis Muha;f. 

 $w;W (A): tup vd;gJ gztPf;fj;ijf; fl;Lg;gLj;Jk; fUtpfSs; xd;whf  
gad;gLj;jg;gLfpwJ 

 fhuzk; (R): murhq;fk; gz;lq;fs; kPjhd tup tpfpjj;ij Fiwg;gjd; %yk;  
gztPf;fj;ijf; fl;Lg;gLj;j KbAk;. 
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a. (A) kw;Wk; (R) ,uz;Lk; rup> NkYk; (R) vd;gJ (A) tpw;F rupahd tpsf;fk;. 
b. (A) rup> Mdhy; (R) jtW 
c. (A) jtW> Mdhy; (R) rup 
d. (A) kw;Wk; (R) ,uz;Lk; rup> NkYk; (R) vd;gJ (A) tpw;F rupahd tpsf;fk; my;y 
e. tpil njhpatpy;iy 

 
59. Consider the following statements. 

I. The agglomerations of small firms are called Industrial clusters. 
II. The notion of an “Industrial district” was developed by J.S.Mill 
a. I, II are correct  b. I is correct   c. II is correct    
d. I, II are incorrect  e. Answer not known 
gpd;tUk; $w;Wfis Muha;f. 
I. rpwpa epWtdq;fspd; njhFg;GfNs “njhopy;Jiw njhFg;Gfs;” vd;W 

miof;fg;gfpd;wd. 
II. “njhopy;Jiw khtl;lk;” vd;gij gpugykhf;fpatu; J.S.kpy;. 
a. I, II rup   b. I rup    c. II rup   
d. I, II jtW   e. tpil njhpatpy;iy 
 

60. Choose the wrongly matched pair. 
i. Tirupur - Cotton knitwear cluster 
ii. Karur - coach building cluster 
iii. Hosur - electric motors and pump sets. 
a. i  b. ii  c. iii  d. none   e. Answer not known 
jtwhfg; nghUe;jpa ,iziaj; Njh;e;njL 
i. jpUg;g+h; - gpd;dyhilfs; kw;Wk; Maj;j Milfs; 
ii. f&h; - thfd fl;Lkhdj; njhFg;Gfs; 
iii. X#h; - kpd;Nkhl;lhh;fs; kw;Wk; gk;Gfs; njhFg;Gfs; 
a. i  b. ii  c. iii  d. ,it VJkpy;iy e. tpil njhpatpy;iy 

 

61. Match the following 
District   Industrial cluster 
A. Thiruvallur  1. Automotive 
B. Kanchipuram  2. Silk Sarees 
C. Vellore   3. Leather 
D. Hosur   4. Automotive and Electronics 
 A B C D 
a. 1 2 3 4 
b. 4 2 3 1 
c. 3 2 4 1 
d. 3 2 1 4   e. Answer not known 
nghUj;Jf. 
khtl;lk;  njhopy;Jiw njhFg;G 
A. jpUts;Stu; 1. jhdpaq;fp 
B. fhQ;rpGuk;  2. gl;LMilfs; 
C. NtY}u;  3. Njhy; 
D. XRu;   4. jhdpaq;fp kw;Wk; kpd;dZ rhjdq;fs; 
 A B C D 
a. 1 2 3 4  
b. 4 2 3 1 
c. 3 2 4 1 
d. 3 2 1 4   e. tpil njhpatpy;iy 
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62. Match the following 
Districts  Industrial Clusters 
A. Chennai  1. Automotive and Electronics 
B. Salem  2. Power loom and Turmeric 
C. Erode  3. Steel and Power loom 
D. Namakkal  4. Transportation and Poultry 
 A B C D 
a. 1 2 3 4 
b. 1 3 2 4 
c. 4 2 3 1 
d. 4 3 2 1 
e. Answer not known 
nghUj;Jf 
khtl;lq;fs;  njhopy;Jiw njhFg;G 
A. nrd;id  1. jhdpaq;fp kw;Wk; kpd;dZ 

B. Nryk;  2. tpirj;jwp kw;wk; kQ;rs; 
C. <NuhL  3. ,Uk;G kw;Wk; tpirj;jwp 
D. ehkf;fy;  4. Nghf;Ftuj;J kw;Wk; Nfhopg;gz;id 
 A B C D 
a. 1 2 3 4 
b. 1 3 2 4 
c. 4 2 3 1 
d. 4 3 2 1 
e. tpil njhpatpy;iy 
 

63. Consider the following statements. 
Assertion (A): Coimbatore is referred as the “Manchester of South India”. 
Reason (R):  Coimbatore is the largest producer of cotton in India. 
a. Both (A) and (R) are true and (R) is the correct explanation of (A). 
b. (A) is true but (R) is false. 
c. (A) is false but (R) is true 
d. Both (A) and (R) are true and (R) is not the correct explanation of (A). 
e. Answer not known 
gpd;tUtdtw;iw Muha;f. 
$w;W (A): Nfhak;Gj;J}u; “njd;dpe;jpahtpd; khd;nr];lu;” vd miof;fg;gLfpwJ. 
fhuzk; (R): Nfhak;Gj;J}u; ,e;jpahtpNyNa kpfmjpf mstpy; gUj;jp cw;gj;jp 
nra;fpd;wJ. 
a. (A) kw;Wk; (R) ,uz;Lk; rup> NkYk; (R) vd;gJ (A) tpw;F rupahd tpsf;fk;. 
b. (A) rup> Mdhy; (R) jtW 
c. (A) jtW> Mdhy; (R) rup 
d. (A) kw;Wk; (R) ,uz;Lk; rup> NkYk; (R) vd;gJ (A) tpw;F rupahd tpsf;fk; my;y. 
e. tpil njhpatpy;iy 

 

64. Which of the following statements about Tamilnadu is/are correct? 
i. Tamilnadu accounts for 50% of leather tanning capacity in India. 
ii. It contributes 38% of all leather footwear, garments and components of India. 
a. i, ii  b. i only c. ii only  d. none  e. Answer not known 
gpd;tUk; $w;Wfspy; jkpo;ehL gw;wp rupahdit vit? 
i. ,e;jpahtpd; 50% Njhy; gjdpLk; cw;gj;jpjpwd; nfhz;lJ. 
ii. 38% Njhy; fhyzpfs; kw;Wk; Njhy; cjpup ghfq;fs; nghUl;fspd; cw;gj;jpiaf; 

nfhz;Ls;sJ. 
a. i, ii  b. i kl;Lk; c. ii kl;Lk;   d. VJkpy;iy e. tpil njhpatpy;iy 
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65. Match the following  
Districts   ELCOSEZ 
A. Madurai   1. Vadapalanji 
B. Hosur   2. Gangaikondan 
C. Tirunelveli  3. Viswanathapuram 
 A B C 
a. 1 2 3 
b. 1 3 2 
c. 2 1 3 
d. 3 2 1 
e. Answer not known 
nghUj;Jf. 
khtl;lq;fs;   ELCOSEZ 
A. kJiu   1. tlghyQ;rp 
B. X#u;   2. fq;iff;nfhz;lhd; 
C. jpUney;Ntyp  3. tp];tehjGuk; 
 A B C 
a. 1 2 3 
b. 1 3 2 
c. 2 1 3 
d. 3 2 1 
e. tpil njhpatpy;iy 
 

66. How many pairs are correctly matched? 
i. SIPCOT – To provide Financial Assistance for Privates firms 
ii. TANSIDCO – To provide technical assistance for new firms 
iii. TIDCO – To establish industrial estates 
iv. TIIC – To provide low-cost financial support for new units and expansion of existing 

units. 
a. one pair   b. two pairs    c. three pairs   
d. four pairs   e. Answer not known 
fPo;f;fz;ltw;Ws; vj;jid ,izfs; rhpahf nghUe;jpAs;sd? 
i. SIPCOT –  jdpahu; epWtdq;fSf;F epjpAjtp toq;Ffpd;wJ. 
ii. TANSIDCO – Gjpa epWtdq;fSf;F njhopy;El;g cjtpfis toq;Ffpd;wJ. 
iii. TIDCO –  njhopy; Njhl;lq;fis epWTfpwJ. 
iv. TIIC – Gjpa njhopy; gpupTfis epWTtjw;Fk; jw;NghJs;s njhopy; gpupTfisg; 

ngUf;Ftjw;Fk; Fiwe;j mstpyhd epjpAjtp toq;Ffpd;wJ. 
a. Xh; ,iz   b. ,U ,izfs;  c. %d;W ,izfs;  
d. ehd;F ,izfs;  e. tpil njhpatpy;iy 
 

67. Which of the following organisation was the first Industrial corporation operating in the 
domain for small enterprises? 
a. TIDCO  b. SIPCOT   c. TANSIDCO  
d. TANSI  e. Answer not known 
gpd;tUtdtw;Ws; ve;j xd;W rpW epWtdq;fSf;fhf epWtg;gl;l Kjy; njhopy;Jiw 
epWtdk;? 
a. TIDCO  b. SIPCOT   c. TANSIDCO  
d. TANSI  e. tpil njhpatpy;iy 
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68. Choose the correct statements about MPEZ. 
i. It was established in 1984. 
ii. It is one of the seven export processing zones in the country. 
iii. It promoted the foreign direct investment. 
a. i, ii, iii  b. i, iii  c. i, ii  d. ii, iii e. Answer not known 
MPEZ gw;wp rupahd $w;wpidj; Nju;e;njL. 
i. 1984-Mk; Mz;L njhlq;fg;gl;lJ. 
ii. kj;jpa muR mikj;j ehl;bd; VO Vw;Wkjp nrayhf;f kz;lyq;fspy; ,JTk; xd;W. 
iii. ,J me;epa Neub KjyPl;bid Cf;Ftpf;fpwJ. 
a. i, ii, iii  b. i, iii  c. i, ii  d. ii, iii e. tpil njhpatpy;iy 
 

69. Which of the following statements about Globalization is/are correct? 
i. Opening exclusive public sector enterprises to private sector. 
ii. Integration of the domestic economy with the rest of the world. 
iii. Opening the doors to FDI and FPI. 
a. i, ii, iii  b. ii, iii c. i, iii  d. i, ii  e. Answer not known 
gpd;tUk; $w;Wfspy; cyfkakhjy; gw;wp rupahdit vit? 
i. nghJj;Jiw epWtdq;fis jdpahu; Jiwf;F khw;wpaikj;jy; 
ii. cs;ehl;Lg; nghUshjhuj;ijAk; Vida cyf nghUshjhuj;ijAk; ,izg;gJ. 
iii. may;ehl;L Neub KjyPL (FDI) kw;Wk; may;ehl;L njhFg;G (FPI) KjyPLfSf;fhd 

fjTfisj; jpwe;J itg;gJ. 
a. i, ii, iii  b. ii, iii c. i, iii  d. i, ii  e. tpil njhpatpy;iy 
 

70. Consider the following statements. 
I. The prime minister of India announced the new industrial policy on June 24, 1991. 
II. It liberated the indigenous enterprise from the Restrictions of MRTP act. 
a. I, II are correct  b. I is correct   c. II is correct   
d. I, II are incorrect  e. Answer not known 
gpd;tUk; $w;Wfis Muha;f. 
I. Gjpa njhopw;nfhs;ifia [_d; 24> 1991,y; ,e;jpa gpujku; mwptpj;jhu;. 
II. ,J MRTP -rl;lf; fl;Lg;ghLfspypUe;J cs;ehl;L epWtdq;fis jsu;j;jpaJ. 
a. I, II rup b. I rup  c. II rup   d. I, II jtW e. tpil njhpatpy;iy 

 

71. Consider the following statements. 
Assertion (A): In India, the per capita availability of fruits and vegetable is low. 
Reason (R):  In India, the post-harvest losses accounts for about 25% to  
   30% of the production. 
a. Both (A) and (R) are true and (R) is the correct explanation of (A). 
b. (A) is true but (R) is false. 
c. (A) is false but (R) is true 
d. Both (A) and (R) are true and (R) is not the correct explanation of (A). 
e. Answer not known 
gpd;tUtdtw;iw Muha;f. 
$w;W (A): ,e;jpahtpy; jdpegUf;Ff; fpilf;ff; $ba goq;fs; kw;Wk; fha;fwpfspd;  

msT kpff;FiwT. 
fhuzk; (R): ,e;jpahtpy; 25% Kjy; 30% tiuapyhd ,og;Gfs; mWtilf;Fg; gpd;dhy;  

Vw;gLfpwJ. 
a. (A) kw;Wk; (R) ,uz;Lk; rup> NkYk; (R) vd;gJ (A) tpw;F rupahd tpsf;fk;. 
b. (A) rup> Mdhy; (R) jtW 
c. (A) jtW> Mdhy; (R) rup 
d. (A) kw;Wk; (R) ,uz;Lk; rup> NkYk; (R) vd;gJ (A) tpw;F rupahd tpsf;fk; my;y 
e. tpil njhpatpy;iy 
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72. Which of the following is/are the main characteristics of special Economic zone. 
i. Having a separate custom area. 
ii. Geographically demarked area with physical security 
iii. Administered by single body authority. 
iv. Governed by liberal economic laws. 
a. i, ii  b. i, ii, iii c. ii, iv  d. all the above e. Answer not known 
gpd;tUtdtw;Ws; rpwg;Gg; nghUshjhu kz;lyj;jpd; Kf;fpa ,ay;Gfs; vit? 
i. jdpg;gl;l tpUg;gg; gFjpiaf; nfhz;lJ. 
ii. ghJfhg;Gld; $ba epyg;gFjpfs; 
iii. jdp mikg;ghy; epu;tfpf;fg;gLk; 
iv. jhuhska nghUshjhu rl;lj;jhy; eph;tfpf;fg;gLfpwJ. 
a. i, ii  b. i, ii, iii c. ii, iv  d. ,it midj;Jk;    e. tpil njhpatpy;iy 

 
73. Consider the following statements. 

I. The Narasimman Committee was constituted in 1991. 
II. It was proposed to cut down the SLR from 38.5% to 22% within a time span of three 

years. 
III. It was proposed to reduce CRR about 3 to 5% over a period of four years. 
a. I, II are correct   b. II is incorrect  c. II, III are correct   
d. all the statements are correct e. Answer not known 
gpd;tUk; $w;Wfis Muha;f. 
I. eurpk;kd; FO 1991 ,y; mikf;fg;gl;lJ. 
II. ,f;FO %d;whz;L fhy mstpy; SLR tpfpjj;ij 38.55% ypUe;J 22% Mf Fiwf;f 

gupe;Jiuj;jJ. 
III. ,f;FO CRR tpfpjj;ij ehd;F Mz;Lfspy; 3 Kjy; 5% Mf Fiwf;f Kaw;rpj;jJ. 
a. I, II rup    b. II jtW   c. II, III rup   
d. midj;Jk; rup   e. tpil njhpatpy;iy 

 
74. Which of the following statements is/are correct? 

i. Under employment is also called as Disguised unemployment. 
ii. Disguised unemployment is a situation where people work but no increase in 

production. 
a. i, ii   b. i  c. ii  d. none e. Answer not known 
gpd;tUk; $w;Wfspy; rupahdit vit? 
i. Fiw NtiyAilik vd;gJ kiwKf Ntiyapd;ik vdg;gLfpwJ. 
ii. kiwKf Ntiyapd;ik vd;gJ njhopyhsu;fs; Ntiyapy; <Lgl;lhYk; cw;gj;jpasT 

mjpfupf;fhj epiyiaf; Fwpf;Fk;. 
a. i, ii   b. i  c. ii  d. VJkpy;iy     e. tpil njhpatpy;iy 
 

75. Match the following 
Schemes    Year of launch 
A. NREP    1. 1983 
B. RLEGP    2. 1980 
C. Jawajar Rozgar Yojana  3. 1989 
D. MGNREGS   4. 2006 
 A B C D 
a. 1 3 2 4 
b. 1 2 4 3 
c. 2 1 3 4 
d. 2 1 4 3 
e. Answer not known 
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nghUj;Jf. 
jpl;lq;fs;    njhlq;fpa Mz;L 
A. NREP     1. 1983 

B. RLEGP     2. 1980 
C. [t`u; Nuh[;fu;; Nah[dh  3. 1989 
D. MGNREGS    4. 2006  
 A B C D 
a. 1 3 2 4 
b. 1 2 4 3 
c. 2 1 3 4 
d. 2 1 4 3 
e. tpil njhpatpy;iy 

 
76. Match the following. 

Schemes      Year of launch 
A. Rajiv Awas Yojana    1. 2009 
B. National Rural Health Mission   2. 2005 
C. National Rural Livelihood Mission  3. 2011 
D. National Food Security Scheme  4. 2013 
 A B C D 
a. 1 2 3 4 
b. 2 1 3 4 
c. 1 2 4 3 
d. 2 1 4 3 
e. Answer not known 
nghUj;Jf. 
jpl;lq;fs;     njhlq;fpa Mz;L 
A. uh[pt; Mth]; Nah[dh  1. 2009 

B. Njrpa eyj;jpl;lk;    2. 2005 
C. Njrpa Cuf tho;thjhu jpl;lk;  3. 2011 
D. Njrpa czTg; ghJfhg;G jpl;lk; 4. 2013 
 A B C D 
a. 1 2 3 4 
b. 2 1 3 4 
c. 1 2 4 3 
d. 2 1 4 3 
e. tpil njhpatpy;iy 

 
77. Which of the following statements about Regional Rural Bank is/are correct? 

i. RRB came into existence based on the recommendations made by the working group 
on rural banks appointed by the Government of India in 1975. 

ii. RRBs are setup by the joint efforts of the RBI and commercial banks. 
iii. At present, there are 64 RRBs in India. 
a. i, ii, iii  b. i, ii  c. ii, iii  d. i, iii  e. Answer not known 
gpd;tUk; $w;Wfspy; tl;lhu Cuf tq;fpfs; gw;wp rupahdit? 
i. ,e;jpa murhq;fk; 1975k; Mz;L Cuf tq;fpfspd; nray;ghLfs; Fwpj;J Muha> Cuf 

tq;fpfspy; mikf;fg;gl;l FOtpd; gupe;Jiug;gb ,t;tq;fpfs; nray;gLj;jg;gl;ld. 
ii. tl;lhu Cuf tq;fpfs; upru;t; tq;fp kw;Wk; tq;fpfspd; $l;L Kaw;rpahy; 

cUthf;fg;gl;lJ. 
iii. ,e;jpahtpy; jw;NghJ 64 tl;lhu Cuf tq;fpfs; cs;sd. 
a. i, ii, iii  b. i, ii  c. ii, iii  d. i, iii  e. tpil njhpatpy;iy 
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78. Consider the following statements. 
I. MUDRA provides loans at low rates to micro finance institutions and non-Banking 

financial institutions. 
II. MUDRA scheme launched on 8th April 2015. 
a. I, II are correct  b. I is correct    c. II is correct    
d. I, II are incorrect  e. Answer not known 
gpd;tUk; $w;Wfis Muha;f. 
I. Kj;uh tq;fp rpW> FW epjp epWtdq;fs; tq;fprhuh epjp epWtdq;fs; kw;Wk; eLj;ju 

epWtdq;fSf;F fld; toq;FfpwJ. 
II. Kj;uh jpl;lk; Vg;uy; 8> 2015-y; njhlq;fg;gl;lJ. 
a. I, II rup b. I rup  c. II rup  d. I, II jtW  e. tpil njhpatpy;iy 
 

79. Which of the following statements is/are correct? 
i. Tamilnadu stands to be the second in terms of contribution to GDP. 
ii. Growth of SGDP in Tamilnadu has been among the fastest in India since 2005. 
a. i, ii   b. i only   c. ii only   
d. none  e. Answer not known 
gpd;tUtdtw;Ws; rupahd $w;Wfs; vit? 
i. nkhj;j cs;ehl;L cw;gj;jpg; gq;fspg;gpy; jkpo;ehL ,uz;lhkplj;jpy; cs;sJ. 
ii. 2005 Mk; Mz;bypUe;J ,e;jpa khepyq;fspy; jkpo;ehl;bd; tsu;r;rpahdJ tpiuthf 

cs;sJ. 
a. i, ii   b. i kl;Lk;   c. II kl;Lk;   
d. VJkpy;iy  e. tpil njhpatpy;iy 
 

80. Tamilnadu ranks third in terms of 
i. Per capita income 
ii. Foreign Direct Investment 
iii. Higher Education  
iv. Industrial Production 
a. i, iii  b. ii, iv  c. i, ii, iv d. all the above e. Answer not known 
jkpo;ehL %d;whkplk; ngw;Ws;s Jiwfs;  
i. jyhtUkhd KjyPL 
ii. me;epa Neub KjyPL 
iii. cau;fy;tp 
iv. njhopw;Jiw cw;gj;jp 
a. i, iii  b. ii, iv  c. i, ii, iv d. ,it midj;Jk;   e. tpil njhpatpy;iy 
 

81. Tamilnadu is placed ___ in health index as per the NITI Aayog report (2018) 
a. Third  b. Fourth    c. Fifth  
d. Sixth  e. Answer not known 
epjp MNahf; mwpf;ifapd;gb (2018) jkpo;ehL Rfhjhuf; FwpaPl;by; ___ ,lk; tfpf;fpwJ. 
a. %d;whk;  b. ehd;fhk;    c. Ie;jhk;   
d. Mwhk;  e. tpil njhpatpy;iy  
 

82. Which of the following statements is/are correct? 
i. Tamilnadu Ranks second in terms of number of factories. 
ii. It has emerged as a major hub for renewable energy. 
a. i, ii   b. i only   c. ii only   
d. none  e. Answer not known 
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gpd;tUk; $w;Wfspy; rupahdit vit? 
i. njhopw;rhiyfspd; vz;zpf;ifapy; jkpo;ehL ,uz;lhk; ,lk; tfpf;fpwJ. 
ii. GJg;gpf;fj;jf;f Mw;wypy; xU Kf;fpa ikakhf cUntLj;Js;sJ. 
a. i, ii   b. i kl;Lk;   c. ii kl;Lk;   
d. VJkpy;iy  e. tpil njhpatpy;iy 
 

83. Consider the following statements. 
I. 17 River basins are present in Tamilnadu. 
II. Wells are the largest source of irrigation in Tamilnadu. 
III. There are 81 reservoirs in Tamilnadu. 
a. I, II are correct  b. II, III are correct   c. I, III are correct   
d. All are correct  e. Answer not known 
gpd;tUk; $w;Wfis Muha;f. 
I. jkpo;ehl;by; 17 MWfs; cs;sd. 
II. jkpo;ehl;by; fpzw;W ghrdk; mjpf mstpy; cs;sJ. 
III. jkpo;ehl;by; 81 mizf;fl;Lfs; cs;sd. 
a. I, II rup   b. II, III rup    c. I, III rup   
d. midj;Jk; rup  e. tpil njhpatpy;iy 
 

84. Match the following 
Ores/Minerals  Places 
A. Bauxite   1. Kanjamalai 
B. Molybdenum  2. Dharmapuri 
C. Iron ore   3. Yercaud 
 A B C 
a. 1 2 3  
b.  3 2 1 
c. 2 3 1 
d. 2 1 3 
e. Answer not known 
nghUj;Jf. 
jhJf;fs;   ,lk; 
A. ghf;i]l;   1. fQ;rkiy 
B. khypg;bdk;   2. jh;kGup 
C. ,Ug;Gj; jhJ  3. Vw;fhL 
 A B C 
a. 1 2 3  
b.  3 2 1 
c. 2 3 1 
d. 2 1 3 
e. tpil njhpatpy;iy 
 

85. The per capita Income of Tamilnadu is _____. 
a. $ 2200  b. $ 1670   c. $ 2175   
d. $ 2151  e. Answer not known 
jkpo;ehl;by; jyh tUkhd kjpg;G ____. 
a. $ 2200  b. $ 1670   c. $ 2175   
d. $ 2151  e. tpil njhpatpy;iy 
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86. Choose the correct statements about Tamilnadu. 
i. It has seven agro climatic zones. 
ii. It is the largest producer of loose flowers. 
iii. Fourth largest producer of fruits. 
iv. At present, Tamilnadu is the India’s second biggest producer of rice, next only to 

West Bengal. 
a. i, ii, iii b. i, ii, iv c. i, iii  d. all the above e. Answer not known 
jkpo;ehL gw;wp rupahd $w;wpidj; Nju;e;njL.  
i. VO Ntshz; fhyepiy kz;lyq;fs cs;sd. 
ii. Njrpa mstpy; cjpupG+f;fs; kpf mjpfk; cw;gj;jp nra;Ak; khepyk;. 
iii. goq;fs; cw;gj;jpapy; ehd;fhkplj;jpy; cs;sJ. 
iv. jw;NghJ ,e;jpahtpd; ney; cw;gj;jpapy; ,uz;lhtJ ngupa cw;gj;jpahsuhf Nkw;F 

tq;fj;jpw;F mLj;jjhf cs;sJ. 
a. i, ii, iii b. i, ii, iv c. i, iii    d. Nkw;$wpa midj;Jk;    e. tpil njhpatpy;iy 

 
87. At National level Tamilnadu ranks first in the production of ____. 

i. Cotton  ii. Maize  iii. Jowar  iv. Ground nut 
v. Total oilseeds vi. Cumbu 
a. i, ii, v   b. i, ii, iv, v, vi  c. ii, iii, iv, v  
d. all the above  e. Answer not known 
Njrpa mstpy; jkpo;ehL ___ cw;gj;jpapy; Kjyplk; tfpf;fpwJ. 
i. gUj;jp   ii. kf;fhr;Nrhsk;  iii. Nrhsk;  iv. fliy 
v. vz;nza; tpj;Jfs; vi. fk;G 
a. i, ii, v   b. i, ii, iv, v, vi  c. ii, iii, iv, v  
d. Nkw;fz;l midj;Jk; e. tpil njhpatpy;iy 

 
88. Chennai is referred to as the ____. 

a. Health capital of India  b. Banking capital of India  c. Detroit of Asia  
d. All the above   e. Answer not known 
nrd;id ____ vd;W miof;fg;gLfpd;wJ. 
a. ,e;jpahtpd; kUj;Jtj; jiyefuk; b. ,e;jpahtpd; tq;fpj; jiyefuk; 
c. Mrpahtpd; nll;uha;l;   d. Nkw;$wpa midj;Jk; 
e. tpil njhpatpy;iy 
 

89. Match the following 
Places   Industrial Cluster 
A. Rajapalayam 1. Lorry fleet operators 
B. Sankagiri  2. Borewell drilling services 
C. Tiruchengode 3. Surgical cotton products 
D. Karur  4. Coach building 
 A B C D 
a. 1 2 3 4 
b. 2 3 1 4 
c. 3 1 2 4 
d. 3 2 1 4   e. Answer not known 
nghUj;Jf. 
miktplk;  njhopy; njhFg;Gfs; 
A. uh[ghisak; 1. yhup fyj;njhFjp 
B. rq;ffpup  2. Mo;JisapLk; gzpfs; 
C. jpUr;nrq;NfhL 3. gUj;jp mWit rpfpr;irg; nghUl;fs; 
D. f&u;  4. thfd Gidgtu; 
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 A B C D 
a. 1 2 3 4 
b. 2 3 1 4 
c. 3 1 2 4 
d. 3 2 1 4 
e. tpil njhpatpy;iy 
 

90. Which of the following statement is/are correct regarding 2011 census 
i. The sex ratio in India is 940. 
ii. Sex Ratio of Tamilnadu is 995. 
iii. Tamilnadu stands third next only to Kerala state and Puducherry Union Territory in 

sex ratio. 
a. i, ii, iii  b. i, ii  c. ii, iii  d. i, iii  e. Answer not known 
gpd;tUk; $w;Wfspy; 2011 –kf;fs;njhif fzf;nfLg;gpd;gb rupahdit vit? 
i. ,e;jpahtpd; ghypdtpfpjk; 940. 
ii. jkpo;ehl;bd; ghypdtpfpjk; 995. 
iii. jkpo;ehL ghypdtpfpjj;jpuy; Nfush kw;Wk; GJr;Nrupia mLj;J %d;whtJ ,lj;jpy; 

cs;sJ. 
a. i, ii, iii  b. i, ii  c. ii, iii  d. i, iii  e. tpil njhpatpy;iy 
 

91. Consider the following statements. 
I. Karur is known for its bus body building which contributes 80% of Indian bus body 

building. 
II. TNPL is the Asia’s largest ecofriendly paper mill. 
a. I, II are correct  b. I is correct   c. II is correct    
d. I, II are incorrect  e. Answer not known 
gpd;tUk; $w;Wfis Muha;f. 
I. NgUe;J fl;Lkhdj; njhopYf;Fg; ngau; ngw;w f&u;> ,e;jpahtpd; NgUe;J fl;Lkhdj; 

njhopYf;fhd gq;fspg;gpy; 80% Mf cs;sJ. 
II. jkpo;ehL fhfpj cw;gj;jp epWtdk; MrpahtpNyNa kpfg;ngupa Rw;Wr;#oYf;Fg; 

ghjpg;gpy;yhj fhfpj epWtdq;fSs; xd;W. 
a. I, II rup   b. I rup    c. II rup   
d. I, II jtW   e. tpil njhpatpy;iy 
 

92. Consider the following statements. 
Assertion (A): Tamilnadu is known as the “Yarn bowl” of the country. 
Reason (R):  Tamilnadu accounting for 41% of India’s cotton yarn  
   production. 
a. Both (A) and (R) are true and (R) is the correct explanation of (A). 
b. (A) is true but (R) is false. 
c. (A) is false but (R) is true 
d. Both (A) and (R) are true and (R) is not the correct explanation of (A). 
e. Answer not known 
gpd;tUtdtw;iw Muha;f. 
$w;W (A):  jkpo;ehL ,e;jpahtpd; E}y; fpz;zk; vd miof;fg;gLfpwJ. 
fhuzk; (R): ,e;jpa mstpy; nkhj;j cw;gj;jpapy; 41% E}y; jkpo;ehl;by;  
   cw;gj;jp nra;ag;gLfpd;wd. 

a. (A) kw;Wk; (R) ,uz;Lk; rup> NkYk; (R) vd;gJ (A) tpw;F rupahd tpsf;fk;. 
b. (A) rup> Mdhy; (R) jtW 
c. (A) jtW> Mdhy; (R) rup 
d. (A) kw;Wk; (R) ,uz;Lk; rup> NkYk; (R) vd;gJ (A) tpw;F rupahd tpsf;fk; my;y 
e. tpil njhpatpy;iy 
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93. Which of the following statements is/are correct? 
i. Every year Tamilnadu hosts the India International Leather fair in Chennai. 
ii. Chennai has emerged as EMS Hub of India. 
a. i, ii    b. i only   c. ii only   
d. None of these  e. Answer not known 
gpd;tUk; $w;Wfis rupahdit vit? 
i. xt;nthU Mz;Lk; gd;dhl;L Njhy; nghUl;fs; fz;fhl;rp nrd;idapy; eilngWfpwJ. 
ii. ,e;jpahtpd; kpd;dZ rhjdq;fs; cw;gj;jp ikakhf nrd;id tpsq;FfpwJ. 
a. i, ii    b. i kl;Lk;   c. ii kl;Lk;    
d. ,it VJkpy;iy  e. tpil njhpatpy;iy 
 

94. Which of the following is correctly matched? 
Rank    Cement Producing states 
i. First  - Rajasthan 
ii. Second  - Andhra Pradesh 
iii. Third  - Tamilnadu 
a. i and ii only  b. iii only   c. ii and iii only    
d. i, ii and iii   e. Answer not known 
gpd;tUtdtw;Ws; rhpahf nghUe;jpait vit? 
jutupir   rpnkz;l; cw;gj;jp (khepyq;fs;) 
i. Kjyplk;  - uh[];jhd; 
ii. ,uz;lhkplk; - Me;jpug;gpuNjrk; 
iii. %d;whkplk; - jkpo;ehL 
a. i kw;Wk; ii kl;Lk;  b. iii kl;Lk;   c. ii kw;Wk; iii kl;Lk;   
d. i, ii kw;Wk; iii  e. tpil njhpatpy;iy 
 

95. Which of the following statements is/are correct? 
i. In Tamilnadu BHEL has their manufacturing plant at Ranipet and Tiruchirappalli. 
ii. TNPL is the world’s biggest bagasse-based paper mill located in Karur. 
iii. The country’s largest steel public sector undertaking, SAIL has a steel plant in Salem. 
a. i, ii, iii  b. ii, iii c. i, iii  d. i, ii  e. Answer not known 
gpd;tUk; $w;Wfspy; rupahdit vit? 
i. jkpo;ehl;by; BHEL epWtdk; jpUr;rp kw;Wk; uhzpg;Ngl;ilapy; njhopw;rhiyfisf; 

nfhz;Ls;sJ. 
ii. f&upy; mike;Js;s jkpof murpd; jkpo;ehL fhfpjj; jahupg;G epWtdk; cyfpd; 

kpfg;ngupa fhfpjj; jahupg;G epWtdkhFk;. 
iii. ,e;jpahtpd; kpfg;ngupa v/F cUf;fhiy epWtdkhf SAIL jdJ Miyia Nryj;jpy; 

epWtpAs;sJ. 
a. i, ii, iii  b. ii, iii c. i, iii  d. i, ii  e. tpil njhpatpy;iy 
 

96. Consider the following statements. 
Assertion (A): Thoothukudi is known as “Gateway of Tamilnadu”. 
Reason (R): Thoothukudi is the major chemical producer in Tamilnadu. 
a. Both (A) and (R) are true and (R) is the correct explanation of (A). 
b. (A) is true but (R) is false. 
c. (A) is false but (R) is true 
d. Both (A) and (R) are true and (R) is not the correct explanation of (A). 
e. Answer not known 
gpd;tUtdtw;iw Muha;f. 
$w;W (A): J}j;Jf;Fb “jkpo;ehl;bd; EioTthapy;” vd;W miof;fg;gLfpwJ. 
fhuzk; (R): jkpo;ehl;bd; Ntjpg;nghUl;fs; cw;gj;jp ikakhf J}j;Jf;Fb tpsq;FfpwJ. 
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a. (A) kw;Wk; (R) ,uz;Lk; rup> NkYk; (R) vd;gJ (A) tpw;F rupahd tpsf;fk;. 
b. (A) rup> Mdhy; (R) jtW 
c. (A) jtW> Mdhy; (R) rup 
d. (A) kw;Wk; (R) ,uz;Lk; rup> NkYk; (R) vd;gJ (A) tpw;F rupahd tpsf;fk; my;y 
e. tpil njhpatpy;iy 

 
97. Choose the correct statements. 

i. The MESMED act was enacted in 2006. 
ii. Tamilnadu account of 17.50% Micro, Small and Medium Enterprises in the country. 
iii. It produces over 8000 varieties of product for a total investment of more than Rs. 

32008 crore. 
a. i, ii, iii  b. i, ii  c. i, iii  d. ii, iii e. Answer not known 
rupahd $w;wpidj; Nju;e;njL. 
i. MSMED rl;lk; 2006-y; ,aw;wg;gl;lJ. 
ii. FW> rpW kw;Wk; eLj;ju epWtdq;fspy; 17.50% jkpo;ehL nfhz;Ls;sJ. 
iii. ,it 8000 tifahd nghUl;fis 32>008 Nfhb &gha; KjyPl;by; cw;gj;jp 

nra;fpd;wd. 
a. i, ii, iii  b. i, ii  c. i, iii  d. ii, iii e. tpil njhpatpy;iy 
 

98. Which of the following statements about GER in school education is/are correct? 
i. Tamilnadu Ranks Third in GER in school education. 
ii. Himachal Pradesh has the highest GER in India. 
iii. The all India average is 43%. 
iv. The world average is 57%. 
a. i and ii only  b. i and iii only  c. i, iii and iv  
d. all the above  e. Answer not known 
gpd;tUk; $w;Wfspy; gs;spf;fy;tpapy; epfu khztu; Nru;f;if tPjk; Fwpj;J rupahdit 
vit? 
i. jkpo;ehL gs;spf;fy;tp epfu khztu; Nru;f;if tPjj;jpy; %d;whkplj;jpy; cs;sJ. 
ii. `pkhr;ryg;gpuNjrk; Kjyplj;jpy; cs;sJ. 
iii. ,e;jpahtpd; ruhrup 43% 
iv. cyf mstpy; ruhrup 57% 
a. i kw;Wk; ii kl;Lk;  b. i kw;Wk; iii kl;Lk;  c. i, iii kw;Wk; iv    
 d. Nkw;$wpa midj;Jk; e. tpil njhpatpy;iy  
 

99. Consider the following statements. 
I. Tamilnadu ranks first in GER of higher education. 
II. The GER of higher education in Tamilnadu is 49.6% 
a. I, II are correct  b. I is correct   c. II is correct    
d. I, II are incorrect  e. Answer not known 
gpd;tUk; $w;Wfis Muha;f. 
I. cau;fy;tpf;fhd nkhj;j Nru;f;if tpfpjj;jpy; jkpo;ehL Kjyplj;jpy; cs;sJ. 
II. jkpo;ehl;bd; nkhj;j Nru;f;if tPjk; 49.6% 
a. I, II rup   b. I rup    c. II rup   
d. I, II jtW   e. tpil njhpatpy;iy 
 

100. Choose the correct statements. 
i. Tamilnadu has three major ports. 
ii. It has one intermediate port in Nagapattinam. 
iii. It has 18 minor ports. 
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iv. Chennai port is an artificial harbour and the second principal port in the country for 
handling containers. 

v. Tuticorin port was recently converted from an intermediate port to a major port. 
a. i, ii, iii   b. i, iii, iv, v   c. i, ii, iv  
d. all the above  e. Answer not known 
rupahdf; $w;wpidj; Nju;Tnra;f. 
i. jkpo;ehl;by; %d;W ngupa JiwKfq;fs; cs;sd. 
ii. ehfg;gl;bdj;jpy; xU eLj;ju JiwKfk; cs;sJ. 
iii. jkpo;ehl;by; 18 rpwpa JiwKfq;fs; cs;sd. 
iv. nrd;id JiwKfk; fd;nlapdu;fisf; ifahSk; jpwd; nfhz;l ,e;jpahtpd; 

,uz;lhtJ Kf;fpar; nraw;ifj; JiwKfk;. 
v. J}j;Jf;Fb JiwKfk; rkPgj;jpy; eLj;ju JiwKfj;jpypUe;J nghpa JiwKfkhf juk; 

cah;j;jg;gl;Ls;sJ. 
a. i, ii, iii   b. i, iii, iv, v   c. i, ii, iv  
d. Nkw;$wpa midj;Jk; e. tpil njhpatpy;iy 
 

101. Which district in Tamilnadu has highest sex ration? 
a. Chennai    b. Tiruchirappalli   c. Nilgris    
d. Kanniyakumari  e. Answer not known 
jkpo;ehl;by; mjpf ghypdtpfpjk; cs;s khtl;lk;? 
a. nrd;id   b. jpUr;rpuhg;gs;sp   c. ePyfpup    
d. fd;dpahFkup  e. tpil njhpatpy;iy 
 

102. The Female Literary in Tamilnadu is ____. 
a. 73.45%  b. 64.55%   c. 73.86%   
d. 65.81%  e. Answer not known 
jkpo;ehl;by; ngz;fspd; vOj;jwpT tPjk; ___. 
a. 73.45%  b. 64.55%   c. 73.86%   
d. 65.81%  e. tpil njhpatpy;iy 
 

103. Which of the following statements about mixed economy is/are correct? 
i. Mixedism denotes the co-existence of capitalism and socialism. 
ii. It tends to eliminate the evils of both capitalism and socialism. 
iii. In this economy, resources are owned by individuals. 
a. i, ii, iii  b. i, ii  c. i, iii  d. ii, iii e. Answer not known 
gpd;tUk; $w;Wfspy; fyg;G nghUshjhuk; Fwpj;J rupahdit vit? 
i. fyg;Gj;Jtk; vd;gJ Kjyhspj;Jtk;> rkj;Jtk; Mfpatw;wpd; fyit. 
ii. Kjyhspj;Jtk; kw;Wk; rkj;Jt nghUshjhu mikg;G Kiwfspd; jPikfis fisa 

,k;Kiw cjTk;  
iii. ,g;nghUshjhu mikg;G Kiwfspy; jdpahu; tsq;fisg; ngw;wpUf;Fk;. 
a. i, ii, iii  b. i, ii  c. i, iii  d. ii, iii e. tpil njhpatpy;iy 
 

104. Consider the following statements. 
I. The father of socialism is Karl Marx. 
II. A socialistic economy is also known as planned economy or command economy. 
III. In a socialistic economy some of the resources are owned and operated by the 

government. 
a. I, II are correct   b. II is incorrect   c. I, III are correct  
d. I, II and III are correct  e. Answer not known 
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gpd;tUk; $w;Wfis Muha;f. 
I. nghJeyNk midj;J nghUshjhu eltbf;iffspd; Kf;fpa gpd;Gy Nehf;fkhFk;. 
II. tUtha; kw;Wk; nry;tk; gfpu;tjpy; rkj;Jtk; kw;Wk; midtUf;Fk; rktha;g;G 

toq;FtNj ,jd; Fwpf;Nfhs;. 
III. xU rkj;Jtg; nghUshjhu mikg;gpy; jpl;lkpLjy; vd;gJ xUq;fpize;j xU 

gFjpahFk; 
a. I, II rhp    b. II rhp    c. I, III rhp   
d. I, II kw;Wk; III rhp  e. tpil njhpatpy;iy 
 

105. Net Domestic product is represented as  
a. GNP – depreciation allowance b. NNP – Indirect taxes + subsidies 
c. GDP – Depreciation  d. GDP + Net Factor income from Abroad 
e. Answer not known 
epfu cs;ehl;L cw;gj;jp vt;thW tiuaWf;fg;gLfpwJ? 
a. GNP – Nja;khd fopT  b. NNP – kiwKftup + khdpak; 
c. GDP – Nja;khdk;   d. GDP + ntspehl;bypUe;J fpilf;Fk; epfu tUkhdk; 
e. tpil njhpatpy;iy 
 

106. Net National Product at factor cost is represented as  
a. GNP – depreciation allowance 
b. GNP + depreciation allowance 
c. NNP at Market Prices – Indirect taxes + Subsidies. 
d. NNP at Market Prices + Indirect taxes – Subsidies 
e. Answer not known 
fhuzp nrytpy; epfu Njrpa cw;gj;jp vd;gJ  
a. GNP – Nja;khd khdpak; 
b. GNP + Nja;khd khdpak; 
c. re;ijtpiyapy; NNP – kiwKftup + khdpak; 
d. re;ijtpiyapy; NNP + kiwKftup – khdpak; 
e. tpil njhpatpy;iy 
 

107. Which of the following statements is/are incorrect? 
i. Per capita income = National income / population 
ii. Real income is the buying power of the nominal income. 
iii. National income is the Final Value of goods and Services Produced and expressed in 

terms of money at Market prices. 
a. i only   b. ii and iii only  c. iii only   
d. none   e. Answer not known 
gpd;tUk; $w;Wfspy; jtwhdit vit? 

i. jyhtUkhdk; = 
Njrpa tUkhdk;

kf; fs; njhif
 

ii. cz;ik tUkhdk; vd;gJ thq;Fk; rf;jpf;fhd ngausT tUkhdk; MFk;. 
iii. Njrpa tUtha; vd;gJ xU Mz;by; cw;gj;jp nra;ag;gl;l KbTw;w gz;lq;fs; kw;Wk; 

gzpfspd; nkhj;j gzkjpg;ig re;ij tpiyapy;; kjpg;gpLtjhFk;. 
a. i kl;Lk;   b. ii kw;Wk; iii kl;Lk;   c. iii kl;Lk;    
d. VJkpy;iy   e. tpil njhpatpy;iy 
 

108. Choose the correct statements. 
i. GDP deflator is an index of price changes of goods and services included in GDP. 

ii. GDP deflator = 
Nominal GDP

Real GDP
 × 100 
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a. i, ii    b. i only   c. ii only   
d. none   e. Answer not known 
rupahd $w;wpidj; Nju;e;njL. 
i. GDP Fiwg;ghd; vd;gJ GDP apy; Fwpg;gpl;Ls;s gz;lq;fs; kw;Wk; gzpfspd; 

tpiykhw;w FwpaPl;nlz;. 

ii. GDP Fiwg;ghd; = 
GDP

GDP

gzkjpg; G 

cz;ik 
× 100 

a. i, ii    b. i kl;Lk;   c. ii kl;Lk;   
d. VJkpy;iy   e. tpil njhpatpy;iy 
 

109. Which of the following is wrongly matched? 
i. Product method  - Value added method 
ii. Income method  - inventory method 
iii. Expenditure method - Factor earning method 
a. i only  b. ii, iii   c. iii only  
d. ii only  e. Answer not known 
gpd;tUtdtw;Ws; jtwhfg; nghUe;jpait vit? 
i. cw;gj;jp Kiw  - kjpg;Gf; $Ljy; Kiw 
ii. tUkhd Kiw - ruf;FKiw 
iii. nryT Kiw - fhuzpfspd; Cjpa Kiw 
a. i kl;Lk;  b. ii, iii   c. iii kl;Lk;   
d. ii kl;Lk;  e. tpil njhpatpy;iy 
 

110. Which of the following unemployment arises due to imbalance between supply of 
labour and demand for labour? 
a. Frictional unemployment  b. Structural unemployment 
c. Technical unemployment  d. Cyclical unemployment 
e. Answer not known 
ciog;ghsu;fspd; Njit kw;Wk; mspg;gpy; rkepiyaw;wj; jd;ik epyTtjhy; Vw;gLtJ? 
a. gpwo;r;rp Ntiyapd;ik   b. mikg;Grhu; Ntiyapd;ik 
c. njhopy;El;g Ntiyapd;ik  d. thzpgr;#oy; Ntiyapd;ik 
e. tpil njhpatpy;iy 
 

111. Consider the following statements. 
I. Keynes’ book “The General theory of Employment, Interest and money” published in 

1936. 
II. Keynes theory of employment was based on the view of the long run. 
a. I, II are correct   b. I is correct   c. II is correct   
d. I, II are incorrect   e. Answer not known 
gpd;tUk; $w;Wfis Muha;f. 
I. fPd;]pd; Gj;jfkhd Ntiytha;g;G kw;Wk; tUkhsk; gw;wpa Nfhl;ghL 1936-,y; 

ntspaplg;gl;lJ. 
II. fPd;]pd; fUj;Jf;fs; ePz;l fhyj;ij mbg;gilahff; nfhz;L ,Ue;jd. 
a. I, II rup    b. I rup    c. II rup   
d. I, II jtW    e. tpil njhpatpy;iy 
 

112. Choose the correct statements. 
i. In India, currency notes are issued by the Reserve Bank of India. 
ii. RBI publishes information for three alternative measures of money supply. 
iii. The coins are issued by the Ministry of Finance, Government of India. 
a. i and ii   b. ii and iii    c. i and iii   
d. i, ii and iii   e. Answer not known 
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rupahd $w;wpidj; Nju;e;njL> 
i. ,e;jpahtpy; fhfpjg; gzj;ij upru;t; tq;fp ntspapLfpwJ. 
ii. ,e;jpa upru;t; tq;fp gz mspg;gpy; %d;W tifapyhd mstPLfis nra;fpd;wJ. 
iii. ,e;jpahtpy; ehzaq;fs; kj;jpa murpd; epjpj;Jiwapdhy; ntspaplg;gLfpd;wJ. 
a. i kw;Wk; ii   b. ii kw;Wk; iii    c. i kw;Wk; iii    
 d. i, ii kw;Wk; iii  e. tpil njhpatpy;iy 
 

113. Which of the following statements about alternative measures of money supply is/are 
correct? 
i. M1 = Currency, coins and demand deposits. 
ii. M2 = M1 + Time deposits of all commercial and cooperative banks. 
iii. M3 = M2 + Savings deposits with post office saving bank. 
iv. M4 = M3 + Total deposits with post offices. 
a. i and ii   b. iii and iv   c. i and iv   
d. all the above  e. Answer not known 
gpd;tUk; $w;Wfspy; gzmstPLfs; gw;wpa rupahd $w;Wfs; vit? 
i. M1 =  fhfpjg;gzk;> ehzaq;fs; kw;Wk; Nfl;G itg;Gfs;. 
ii. M3 = M1 + midj;J tzpf tq;fpfs; kw;Wk; $l;LwT tq;fpfspYs;s fhy itg;Gfs;. 
iii. M3 = M2 + mQ;ryf Nrkpg;G tq;fpapd; Nrkpg;G itg;Gfs;. 
iv. M4 = M3 + mQ;ryfj;jpYs;s midj;J itg;Gfs;. 
a. i kw;Wk; ii   b. iii kw;Wk; iv   c. i kw;Wk; iv  
d. Nkw;$wpa midj;Jk; e. tpil njhpatpy;iy 
 

114. Choose the correct statements about inflation 

(i) The general level of prices for goods and services is rising 

(ii) The Purchasing power of currency is falling 

(iii) The value of money is rising 
a. (i) and (ii)    b. (ii) and (iii)  c. (i) and (iii)  
d. (i), (ii) and (iii)   e. Answer not known 
gztPf;fk; gw;wpa $w;Wfspy; rupahdit vit? 
(i) gz;lq;fs; kw;Wk; gzpfs; kPjh nghJtpiykl;l mjpfupg;G. 
(ii) gzj;jpd; thq;Fk; rf;jp Fiwtijf; Fwpf;fpwJ. 
(iii) gzj;jpd; kjpg;G cau;fpwJ. 
a. (i) kw;Wk; (ii)   b. (ii) kw;Wk; (iii)  c. (i) kw;Wk; (iii)   
 d. (i), (ii) kw;Wk; (iii)   e. tpil njhpatpy;iy 
 

115. Choose the incorrect statements 
i. Hyper inflation results in a serious depreciation of the value of money and it 

discourages savings on the part of the public  
ii. Inflation encourages investment in productive purposes rather than speculative 

activities.  
iii. The fixed income groups are the worst hit during inflation  
a. (i) and (ii) only  b. (i) and (iii) only   c. (ii) and (iii) only   
d. (i), (ii) and (iii)  e. Answer not known 
rupahd $w;wpizj; Nju;e;njL. 

i. cau; gztPf;fk; gzj;jpd; kjpg;gpid Fiwg;gjd; %yk;> kf;fspd; Nrkpg;ig 
Fiwf;Fk;. 

ii. gztPf;fkhdJ Cj thzpg nray;ghLfistpl nghUs; cw;gj;jpapy; mjpfkhf 
Cf;fj;ij Vw;gLj;JfpwJ. 

iii. epiyahd tUtha; cila gpuptpdh; gztPf;fj;jpdhy; kpfTk; ghjpf;fg;gLfpd;wdu;. 
a. (i) kw;Wk; (ii) kl;Lk; b. (i) kw;Wk; (iii) kl;Lk;  c. (ii) kw;Wk; (iii) kl;Lk;  
d. (i)> (ii) kw;Wk; (iii) e. tpil njhpatpy;iy 
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116. Fiscal measures to control inflation includes  
(i) Reduction of government expenditure  
(ii) Public borrowing  
(iii) Enhancing taxation 
a. (i), (ii), (iii)   b. (i), (iii)    c. (i), (ii)   
d. (ii), (iii)   e. Answer not known 
gztPf;fj;jpw;fhd epjpapay; eltbf;iffs; vit? 
(i) muR nrytpdq;fisf; Fiwj;jy;. 
(ii) nghJkf;fsplkpUe;J fld;fisg; ngWtJ. 
(iii) tuptpjpg;Gfis tpupthf;FtJ. 
a. (i), (ii), (iii)   b. (i), (iii)    c. (i), (ii)   
d. (ii), (iii)   e. tpil njhpatpy;iy 
 

117. Consider the following statements: 
I. Monetary measures are adopted by the central bank of the country. 
II. Fiscal policy is now recognized as an important instrument to tackle an inflation 

situation 
a. I only correct   b. II only correct   c. Both are correct    
d. Both are incorrect  e. Answer not known 
 
gpd;tUk; $w;wpid Muha;f. 
I. gztpay; Kiwfs; ehl;bd; ika tq;fpapdhy; mky;gLj;jg;gLk; KiwahFk;. 
II. gztPf;f #o;epiyia fl;Lg;gLj;Jtjpy; epjpf; nfhs;ifAk; mjd; fUtpfSk; 

Kf;fpag; gq;F tfpf;fpwJ. 
a. I rup  b. II rup c. ,uz;Lk; rup d. ,uz;Lk; jtW  e. tpil njhpatpy;iy 
 

118. Match the following: 
Banks      Evolution  

 a. South African Reserve Bank  1. 1950 
 b. Central Bank of China    2. 1934 
 c. Reserve Bank of New Zealand  3. 1921 
 d. Central Bank of Ceylon    4. 1954 
 e. Bank of Israel     5. 1928 
  A B C D E 
 a. 1 3 2 5 4 
 b. 3 5 2 1 4 
 c. 4 3 1 2 5 
 d. 5 1 2 4 3   e. Answer not known 

nghUj;Jf. 
tq;fpfs;     Njhw;wk; 
A. njd; Mg;upf;f upru;t; tq;fp  1. 1950 
B. rPd ika tq;fp    2. 1934 
C. epA+rpyhe;J upru;t; tq;fp   3. 1921 
D. rpNyhd; ika tq;fp   4. 1954 
E. ,];Nuy; ika tq;fp   5. 1928 

  A B C D E 
 a. 1 3 2 5 4 
 b. 3 5 2 1 4 
 c. 4 3 1 2 5 

d. 5 1 2 4 3 
e. tpil njhpatpy;iy 
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119. The primary functions of commercial banks include  
i. Credit creation   ii. Accepting deposits  
iii. Money supply   iv. Advancing loans  
a. i, ii    b. ii, iv   c. i, ii, iv   
d. All the above  e. Answer not known 
tzpf tq;fpfspd; Kjd;ikg; gzpfs; vit? 
i. fld; cUthf;fk;  ii. itg;Gfisg; ngWjy; 
iii. gz mspg;G  iv. fld;fs; toq;Fjy; 
a. i, ii    b. ii, iv    c. i, ii, iv   
d. Nkw;$wpa midj;Jk; e. tpil njhpatpy;iy 
 

120. Choose the incorrect statements about Reserve Bank of India.  

i. It controls the Fiscal policy of India  

ii. It commenced its operations on 1 july 1935 

iii. The RBI act was enacted in 1934 

iv. It was nationalized on 1 January 1949 
a. i and ii   b. iii and iv   c. ii and iii     
d. i and iii   e. Answer not known 
,e;jpa upru;t; tq;fp gw;wpa $w;Wfspy; jtwhdit vit? 
i. ,J epjpf; nfhs;ifapid Nkyhz;ik nra;fpwJ 
ii. [_iy 1> 1935 Kjy; nray;gLfpd;wJ. 
iii. ,e;jpa upru;t; tq;fp rl;lk; 1934-,y; ,aw;wg;gl;lJ. 
iv. [dtup 1> 1949 ,y; Njrpakakhf;fg;gl;lJ. 
a. i kw;Wk; ii kl;Lk;  b. iii kw;Wk; iv  c. ii kw;Wk; iii kl;Lk;   
d. i kw;Wk; iii   e. tpil njhpatpy;iy 
 

121. Consider the following statements 
Assertion (A): RBI acts as the Banker to the government  
Reason (R):  It collects receipts of funds and makes payments on behalf of the 
government.  
a. Both (A) and (R) are true and (R) is the correct explanation of (A) 
b. (A) is true but, (R) is false  
c. (A) is False but, (R) is true  
d. Both (A) and (R) are true and (R) is not the correct explanation of (A)  
e. Answer not known 
gpd;tUtdtw;iw Muha;f. 
$w;W (A): RBI, muRf;fhd tq;fpahfr; nray;gLfpwJ. 
fhuzk; (R): ,J murpw;fhd epjp tUthiag; ngw;Wf; nfhs;Sjy; kw;Wk; murpd;  

nrytpdq;fSf;Fg; gzk; toq;Fjiyr; nra;fpwJ. 
a. (A) kw;Wk; (R) ,uz;Lk; rup> NkYk; (R) vd;gJ (A) tpw;F rupahd tpsf;fk;. 
b. (A) rup> Mdhy; (R) jtW 
c. (A) jtW> Mdhy; (R) rup 
d. (A) kw;Wk; (R) ,uz;Lk; rup> NkYk; (R) vd;gJ (A) tpw;F rupahd tpsf;fk; my;y 
e. tpil njhpatpy;iy 
 

122. The Qualitative credit control measures of RBI includes  
i. Moral suasion   ii. Regulation of consumer's credit  
iii. Rationing of credit  iv. Direct Action  
a. i  and ii    b. i, iii and iv   c. i and iii  
d. all the above   e. Answer not known 
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RBI –d; fld; jd;ikf; fl;Lg;ghl;L Kiwfs;  
i. newpKiw J}z;ly; ii. Efu;Nthu; flid newpg;gLj;Jjy; 
iii. fld; gq;fPL  iv. Neub eltbf;if  
a. i kw;Wk; ii   b. i, iii kw;Wk; iv  c. i kw;Wk; iii    
d. Nkw;$wpa midj;Jk; e. tpil njhpatpy;iy 
 

123. Which of the following statements is/are incorrect? 
i. NABARD was established in July 1980. 
ii. Agriculture Refinance Development Corporation started its functioning from July 1, 

1963. 
iii. The only organization providing long term credit to Farmers is Land Development 

Banks. 
a. i, ii    b. ii only   c. i only   
d. iii only   e. Answer not known 
gpd;tUtdtw;Ws; jtwhd $w;wpidj; Nju;e;njL. 
i. [_iy 1980 -,y; eghu;L tq;fp epWtg;gl;lJ. 
ii. tptrha kWfld; Nkk;ghl;L fofk; [_iy 1> 1963 Kjy; nray;glj; njhlq;fpaJ. 
iii. tptrhapfSf;F ePz;lfhy fld;fis mspf;Fk; xNu mikg;G epyts tq;fpfs;. 
a. i, ii    b. ii kl;Lk;   c. i kl;Lk;    
d. iii kl;Lk;   e. tpil njhpatpy;iy 

 
124. Choose the correct statements about NABARD. 

i. Half of the share capital of NABARD is contributed by RBI and other Half 
contributed by Government of India. 

ii. It has the responsibility to inspect Primary Co-operative Societies. 
iii. It maintains a Research and Development Fund to promote research in agriculture 

and rural development. 
a. i and ii   b. i and iii   c. ii and iii   
d. i, ii and iii   e. Answer not known 
eghu;L gw;wp rupahd $w;wpidj; Nju;e;njL. 
i. eghu;bd; %yjdk; ,e;jpa upru;t; tq;fp kw;Wk; ,e;jpa muR Mfpait rupgFjpahf 

toq;fpAs;sJ. 
ii. ,J Jtf;fNtshz;ik $l;LwT rq;fq;fis Ma;T nra;fpwJ. 
iii. Ntshz;ik kw;Wk; Cuf tsu;r;rpf;fhd Ma;T kw;Wk; tsu;r;rp epjpapid guhkupf;fpwJ. 
a. i kw;Wk; ii   b. i kw;Wk; iii   c. ii kw;Wk; iii    
d. i, ii kw;Wk; iii  e. tpil njhpatpy;iy 
 

125. Match the following 
A. IFCI  1. 1948 
B. ICICI  2. 1955 
C. IDBI  3. 1964 
D. RRB  4. 1975 
E. EXIM Bank 5. 1982 
 A B C D E 
a. 1 2 3 4 5 
b. 3 2 1 4 5 
c. 1 3 2 4 5 
d. 3 1 5 4 2 
e. Answer not known 
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nghUj;Jf. 
A. IFCI  1. 1948 
B. ICICI  2. 1955 
C. IDBI  3. 1964 
D. RRB  4. 1975 
E. EXIM Bank 5. 1982 
 A B C D E 
a. 1 2 3 4 5 
b. 3 2 1 4 5 
c. 1 3 2 4 5 
d. 3 1 5 4 2 
e. tpil njhpatpy;iy 
 

126. Consider the following statements about Expansionary Policy 
I. Expansionary policy is cheap money policy. 
II. It increases the total supply of money in the economy more rapidly than usual 
III. This increases aggregate demand which boosts long-term growth as measured by 

gross domestic product (GDP) Growth. 
a. I, II are correct  b. II, III are correct   c. I, III are correct   
d. All are correct  e. Answer not known 
tphpthf;fg; gzf;nfhs;if gw;wpa gpd;tUk; $w;Wfis Muha;f. 
I. tpupthf;fg; gzf;nfhs;if vd;gJ kypTg; gzf;nfhs;ifahFk;. 
II. ,J tof;fj;ij tpl mjpfkhd gz mspg;ig Vw;gLj;JfpwJ. 
III. ,jdhy; njhF Nrit mjpfupj;J nkhj;j cs;ehl;L cw;gj;jpahy; fzf;fplg;gLk; 

ePz;lfhy tsu;r;rpiaj; J}z;Lk;. 
a. I, II rup   b. II, III rup    c. I, III rup   
d. midj;Jk; rup  e. tpil njhpatpy;iy 
 

127. The objectives of monetary policy include. 
i. Price stability 
ii. Full employment 
iii. Stability of Exchange Rates 
iv. Equilibrium in the Balance of Payments 
a. i and ii   b. i, ii and iv   c. ii, iii and iv    
d. all the above  e. Answer not known 
gztpay; nfhs;ifapd; Nehf;fq;fs; vit? 
i. tpiyia epiyg;gLj;Jjy; 
ii. KO Ntiytha;g;G 
iii. guptu;j;jid tpfpjj;jpy; epiyj;jd;ik. 
iv. nrYj;Jifr; rkepiyapy; rkepiyia NgZjy;. 
a. i kw;Wk; ii   b. i, ii kw;Wk; iv  c. ii, iii kw;Wk; iv   
d. Nkw;$wpa midj;Jk; e. tpil njhpatpy;iy 
 

128. The Banks are required to hold a certain proportion of their deposits in the form of cash 
with RBI. This is known as ____. 
a. Statutory Liquidity Ratio b. Cash Reserve Ratio c. Reserve Deposit Ratio  
d. Currency Deposit Ratio  e. Answer not known 
nkhj;j itg;Gj; njhifapy; tzpf tq;fpfs; ikatq;fpapy; nuhf;fkhf itj;jpUf;f 
Ntz;ba mstpd; tPjk; ____. 
a. rl;lG+u;t ePu;ik tpfpjk;  b. nuhf;f ifapUg;G tpfpjk;   
c. ,Ug;G itg;G tPjk;  d. ehza itg;GtPjk; 
e. tpil njhpatpy;iy 
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129. Which of the following statements about SAARC is/are incorrect? 
i. The SAARC secretariat was established in Dhaka. 
ii. The first SAARC summit was held at Kathmandu in the year 1985. 
iii. SAARC meets once in two years. 
iv. The 20th SAARC summit was hosted by Srilanka in 2018. 
a. i and ii   b. iii and iv    c. i only   
d. iii only   e. Answer not known 
rhu;f; mikg;G Fwpj;j $w;Wfspy; jtwhdit vit? 
i. ,jd; jiyikr; nrayfk; jhf;fhtpy; cs;sJ. 
ii. Kjy; khehL 1985-,y; fhj;kz;by; eilngw;wJ. 
iii. rhh;f; ,uz;lhz;LfSf;F xUKiw $LfpwJ. 
iv. 20-tJ cr;rpkhehL ,yq;ifapy; 2018-y; eilngw;wJ. 
a. i kw;Wk; ii   b. iii kw;Wk; iv    c. i kl;Lk; 
d. iii kl;Lk;   e. tpil njhpatpy;iy 
 

130. Which of the following statements about WTO is/are correct? 
i. It was established in 1995 as a successor to the GATT. 
ii. The Dunkel Draft, formulated by Arthur Dunkel became the base for WTO. 
iii. The first WTO conference was held at Singapore in 1996. 
a. i, ii    b. i, iii     c. ii, iii    
d. i, ii, iii   e. Answer not known 
cyf tu;j;jf epWtdk; (WTO) gw;wpa rupahd $w;Wfs; vit? 
i. 1995-Mk; Mz;by; GATT MdJ cyf tu;j;jf mikg;G vd cUthdJ. 
ii. cyf tu;j;jf mikg;gpd; mbj;jskhd lq;fy; tiuT Mu;ju; lq;fy; mtu;fshy; 

tbtikf;fg;gl;lJ. 
iii. Kjy; khehL 1996,y; rpq;fg;G+upy; eilngw;wJ. 
a. i, ii    b. i, iii     c. ii, iii    
d. i, ii, iii   e. tpil njhpatpy;iy 

 
131. The scope of public finance includes. 

i. Public Revenue   ii. Public Expenditure  iii. Public Debt 
iv. Financial Administration v. Fiscal Policy 
a. i, ii, v   b. ii, iii, iv   c. i, ii   
d. all the above  e. Answer not known 
nghJ epjpapaypd; vy;iy vd;git. 
i. nghJ tUtha;  ii. nghJr; nryT   iii. nghJf;fld; 
iv. epjp epu;thfk;  v. epjpf; nfhs;if 
a. i, ii, v   b. ii, iii, iv   c. i, ii   
d. Nkw;$wpa midj;Jk; e. tpil njhpatpy;iy 
 

132. Who had classified the public expenditure on the basis of benefit? 
a. Adam Smith  b. Cohn and Plehn   c. Huge Dalton   
d. Hayek   e. Answer not known 
nghJr;nryit ed;ikapd; mbg;gilapy; tifg;gLj;jpatu;? 
a. Mlk;];kpj;   b. fhd; kw;Wk; gpspd;  c. `_[; lhy;ld;   
d. N`af;   e. tpil njhpatpy;iy 
 

133. The income tax satisfies the canon of 
i. Equity  ii. Elasticity   iii. Certainty  iv. Economy 
a. i and ii   b. iii and iv   c. i, ii and iv  
d. all the above  e. Answer not known 
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tUkhd tupfspd; tpjpg;G tpjpfs; vtw;iw cs;slf;fpaJ? 
i. rkj;Jtk;  ii. nefpOk;jd;ik  iii. epr;rpaj;jd;ik iv. nghUshjhuk; 
a. i kw;Wk; ii   b. iii kw;Wk; iv   c. i, ii kw;Wk; iv  
d. Nkw;$wpa midj;Jk; e. tpil njhpatpy;iy 
 

134. Consider the following statements. 
I. Under the GST regime the tax will be levied at the final point of sale. 
II. Interstate sales will be chargeable to Integrated GST. 
a. I, II are correct  b. I is correct   c. II is correct    
d. I, II are incorrect  e. Answer not known 
gpd;tUk; $w;Wfis Muha;f. 
I. GST-d; fPo;> ,Wjp tpw;gidapd; Nky; tup Rkj;jg;gLfpwJ. 
II. Khepy muRfSf;fpilNaahd tpw;gidapy; IGST – ahf kj;jpa murhy; 

t#ypf;fg;gLfpd;wJ. 
a. I, II rup   b. I rup    c. II rup    
d. I, II jtW   e. tpil njhpatpy;iy 
 

135. Which of the following statements is/are correct? 
i. GST is levied at the point of consumption. 
ii. Sales tax was multipoint tax with cascading effect. 
iii. VAT was multipoint tax with cascading effect. 
iv. GST is one point tax without cascading effect. 
a. i and ii   b. iii and iv   c. i, ii and iv   
d. i, ii, iii and iv  e. Answer not known 
gpd;tUk; $w;Wfspy; rupahdit vit? 
i. GST tup Efu;tpd;NghJ tpjpf;fg;gLfpwJ. 
ii. tpw;gid tupahdJ mbj;js tpisTila gy;Kid tup. 
iii. VAT vdg;gLtJ mbj;js tpisTila gy;Kid tup. 
iv. GST vd;gJ mbj;js tpistpy;yhj xUKidtup. 
a. i kw;Wk; ii   b. iii kw;Wk; iv   c. i, ii kw;Wk; iv  
d. I, ii, iii kw;Wk; iv  e. tpil njhpatpy;iy 
 

136. The method of sinking fund was first introduced in 
a. England    b. United states of America c. India     
d. France   e. Answer not known 
%o;Fk; epjp Kjd;Kjyhf mwpKfkhd ehL. 
a. ,q;fpyhe;J   b. mnkupf;fh    c. ,e;jpah   
d. gpuhd;];   e. tpil njhpatpy;iy 
 

137. Which of the following is correctly matched? 
i. Article 112: Annual Financial Statement of Union Government. 
ii. Article 116: Definition of money bill. 
iii. Article 202: Annual Financial Statement of State Government. 
a. i, ii   b. i, iii  c. ii, iii  d. i, ii, iii e. Answer not known 
gpd;tUtdtw;Ws; rupahfg; nghUe;jpait? 
i. tpjp 112 – kj;jpa murpd; tUlhe;jpu epjp mwpf;if. 
ii. tpjp 116 – gzkNrhjhtpw;fhd epjp mwpf;if. 
iii. tpjp 202 – khepy murpd; tUlhe;jpu epjp mwpf;if 
a. i, ii   b. i, iii  c. ii, iii  d. i, ii, iii e. tpil njhpatpy;iy 
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138. Which is correct regarding the Unbalanced Budget? 
a. Government’s estimated Revenue = Government’s proposed Expenditure 
b. Government’s estimated Revenue > Government’s estimated Expenditure 
c. Government’s estimated Revenue < Government’s proposed Expenditure 
d. Both b and c 
e. Answer not known 
rkepiyaw;w gl;n[l; Fwpj;J rupahd $w;W? 
a. murpd; jpl;lkpl;l tUtha; = murpd; vjpu;Nehf;Fk; nryTfs;. 
b. muR vjpu;ghu;f;fpw tUtha; > jpl;lkplg;gl;Ls;s nryT 
c. muR vjpu;ghu;f;fpw tUtha; < jpl;lkplg;gl;Ls;s nryT 
d. b kw;Wk; c 
e. tpil njhpatpy;iy 

 
139. Identify the incorrect definition. 

a. Budget Deficit = Total Expenditure – Total Revenue. 
b. Fiscal Deficit = Budget deficit + Government’s market borrowings and liabilities. 
c. Primary Deficit = Fiscal Deficit + Interest payments 
d. Revenue Deficit = Total Revenue Expenditure – Total Revenue Receipts 
e. Answer not known 
jtwhd tiuaiwiaj; Nju;e;njL. 
a. tuT nryT jpl;l gw;whf;Fiw = nkhj;j nryT – nkhj;j tuT 
b. epjpg;gw;whf;Fiw = tuT nryT jpl;l gw;whf;Fiw + murpd; mq;fhbf; fld;fSk; 

Vida nghWg;Gf;fSk; 
c. Kjd;ikg;gw;whf;Fiw = epjpg;gw;whf;Fiw + tl;b nrYj;Jjy; 
d. tUtha; gw;whf;Fiw = nkhj;j tUtha; nrytpdk; - nkhj;j tUtha; tuTfs; 
e. tpil njhpatpy;iy 
 

140. Choose the correct pair. 
i. Union List - Defence, Railways and Telegraph 
ii. State List  - Economic and Social Planning 
iii. Concurrent List -  Electricity and Trade Union 
a. i, ii   b. i, iii  c. ii, iii  d. i, ii, iii e. Answer not known 
rupahd ,iziaj; Nju;e;njL. 
i. kj;jpa gl;bay; - ghJfhg;G> uapy;Nt kw;Wk; je;jp 
ii. khepy gl;bay; - nghUshjhu kw;Wk; r%f jpl;lkply; 
iii. nghJg;gl;bay; - kpd;rhuk; kw;Wk; tu;j;jf xd;wpak; 
a. i, ii   b. i, iii  c. ii, iii  d. i, ii, iii e. tpil njhpatpy;iy 
 

141. Consider the following statements. 
I. Under Article 269, Taxes levied and collected by the union but assigned to the states. 
II. According to Article 268 of Indian constitution, duties levied by the Union but 

collected and appropriated by the states. 
a. I, II are correct  b. I is correct   c. II is correct    
d. I, II are incorrect  e. Answer not known 
gpd;tUk; $w;Wfis Muha;f. 
I. tpjp 269-kj;jpa murhy; tpjpf;fg;gl;L khepyq;fSf;F xJf;ff;$ba tsq;fs; 

njhlu;ghdJ. 
II. tpjp 268-kj;jpa murhy; tpjpf;fg;gl;L> Mdhy; khepy muR t#ypg;gJ kw;Wk; 

gad;gLj;JtJ njhlu;ghdJ. 
a. I, II rup   b. I rup    c. II rup   
d. I, II jtW   e. tpil njhpatpy;iy 
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142. Which of the following statements about finance commission is/are correct? 
i. It is set up once in every 5 years. 
ii. Article 280(3) speaks about the functions of the finance commission. 
iii. It is a permanent body. 
a. i, ii   b. ii, iii    c. i, iii   
d. i, ii, iii  e. Answer not known 
gpd;tUk; $w;Wfspy; epjpf;FO gw;wp rupahdit? 
i. xt;nthU Ie;jhz;LfSf;Fk; xUKiw mikf;fg;gLfpwJ. 
ii. tpjp 280 (3) epjpf;FOtpd; gzpfisf; Fwpg;gpLfpd;wJ. 
iii. ,J xU epue;ju mikg;G. 
a. i, ii   b. ii, iii    c. i, iii   
d. i, ii, iii  e. tpil njhpatpy;iy 
 

143. Consider the following statements. 
I. The 14th Finance commission was setup in 2014. 
II. The 15th Finance commission has been setup in November 2017. 
III. The recommendations of 15th finance commission will be implemented from 1st April 

2022 
a. I, II are correct   b. II only correct  c. II, III are correct   
d. All are correct   e. Answer not known 
gpd;tUk; $w;Wfis Muha;f. 
I. 14-tJ epjpf;FO 2014-,y; mikf;fg;gl;lJ. 
II. 15-tJ epjpf;FO 2017- etk;gupy; mikf;fg;gl;lJ. 
III. 15-tJ epjpf;FOtpd; gupe;Jiufs; 1 Vg;uy; 2022 Kjy; nray;gLj;jg;gLk;. 
a. I, II rup    b. II kl;Lk; rup  c. II, III rup  
d. Nkw;fz;l midj;Jk; rup e. tpil njhpatpy;iy 
 

144. Match the following 
Finance Commission  Chairman 
A. First    1. K.C. Neogy 
B. Second    2. A.K. Chanda 
C. Third    3. K. Santhanam 
D. Fourth    4. P.V. Rajamannar 
 A B C D 
a. 1 2 3 4 
b. 1 3 2 4 
c. 1 4 2 3 
d. 1 4 3 2 
e. Answer not known 
nghUj;Jf. 
epjpf;FO    jiytu; 
A. KjyhtJ   1. K.C. epNahfp 
B. ,uz;lhtJ   2. A.K. re;jh 
C. %d;whtJ   3. K. re;jhdk; 
D. ehd;fhtJ   4. P.V. uh[kd;dhu; 
 A B C D 
a. 1 2 3 4 
b. 1 3 2 4 
c. 1 4 2 3 
d. 1 4 3 2 
e. tpil njhpatpy;iy 
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145. Match the following 
Finance Commission Chairman 
A. Twelfth   1. Vijay L. Kelkar 
B. Thirteenth   2.  C. Rangarajan 
C. Fourteenth  3. Y.V. Reddy 
D. Fifteenth   4. N.K. Singh 
 A B C D 
a. 2 1 3 4 
b. 1 2 3 4 
c. 1 2 4 3 
d. 2 1 4 3 
e. Answer not known 
nghUj;Jf. 
epjpf;FO   jiytu; 
A. gd;dpnuz;lhtJ  1. tp[a; L. Nfy;fu; 
B. gjp%d;whtJ  2. C. uq;fuh[d; 
C. gjpehd;fhtJ  3. Y.V. nul;b 
D. gjpide;jhtJ  4. N.K. rpq; 
 A B C D 
a. 2 1 3 4 
b. 1 2 3 4 
c. 1 2 4 3 
d. 2 1 4 3 
e. tpil njhpatpy;iy 
 

146. Which of the following statements about fiscal policy is/are correct? 
i. It is an instrument of macro-economic policy. 
ii. It gained importance due to the Great depression and development of “New 

Economics” by Keynes. 
a. i, ii  b. i only c. ii only  d. none e. Answer not known 
gpd;tUk; $w;Wfspy; epjpf;nfhs;if gw;wp rupahdit? 
i. ,J xU Ngupdg; nghUshjhuf; nfhs;if 
ii. cyf ngUke;jk; kw;Wk; fPd;rpd; ‘Gjpa nghUshjhuk;’ Mfpatw;why; Kf;fpaj;Jtk; 

ngw;wJ. 
a. i, ii  b. i kl;Lk; c. ii kl;Lk;  d. VJkpy;iy e. tpil njhpatpy;iy 
 

147. Match the following 
A. SDG 1 - 1. Zero Hunger 
B. SDG 2 - 2. No Poverty 
C. SDG 4 - 3. Gender Equality 
D. SDG 5 - 4. Quality Education 
 A B C D 
a. 1 2 3 4 
b. 1 2 4 3 
c. 2 1 3 4 
d. 2 1 4 3 
e. Answer not known 
nghUj;Jf. 
A. SDG 1 - 1. gl;bdpapy;yh epiy 
B. SDG 2 - 2. tWikaw;w epiy 
C. SDG 4 - 3. ghypd kj;Jtk; 
D. SDG 5 - 4. jukhd fy;tp 
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 A B C D 
a. 1 2 3 4 
b. 1 2 4 3 
c. 2 1 3 4 
d. 2 1 4 3 
e. tpil njhpatpy;iy 

 
148. Consider the following statements. 

i. The current thinking of economic planning is rooted in Marxist Socialism. 
ii. Soviet Union adopted economic planning for the first time in 1929. 
iii. The idea of economic planning was strengthened during the Great Depression in 

1930s. 
a. i, ii correct   b. i, iii correct  c. ii, iii correct  
d. i, ii, iii correct  e. Answer not known 
gpd;tUk; $w;Wfis Muha;f. 
i. jw;Nghija nghUshjhu jpl;lkply; khu;f;rpr Nrhryprj;jpy; XusT Cd;wpAs;sJ. 
ii. Nrhtpaj; xd;wpak; jpl;lkpliy Kjd;Kjypy; 1929-,y; Jtq;fpaJ. 
iii.  1930-fspy; Vw;gl;l nghUshjhu ke;j epiyapd;NghJ jpl;lkplypd; mtrpak; vd;Dk; 

fUj;J tYtile;jJ. 
a. i, ii rhp   b. i, iii rhp   c. ii, iii rhp   
d. i, ii, iii rhp   e. tpil njhpatpy;iy 

 
149. Who made the first attempt in laying foundation for economic planning in India? 

a. Jayaprakash Narayan  b. Jawaharlal Nehru  c. Subash Chandra Bose  
d. Vishveshwarya   e. Answer not known 
Kjd;Kjypy; ,e;jpahtpy; jpl;lkpLjYf;fhd mbj;jsj;ij mikj;jtu;? 
a. n[agpufh~; ehuhaz;  b. [t`u;yhy; NeU  c. Rgh~; re;jpu Ngh];  
d. tp];Nt];tua;ah   e. tpil njhpatpy;iy 
 

150. Choose the wrongly matched pair. 
i. Bombay plan - Investment plan 
ii. Gandhian plan - Agriculture and Rural economy 
iii. Sarvodaya plan - Agriculture, small and cottage industries 
iv. People’s plan - Industrialization 
a. i, ii   b. i only   c. iv only   
d. iii only  e. Answer not known 
jtwhfg; nghUe;jpa ,iziaj; Nju;e;njL. 
i. ghk;Ng jpl;lk;  - njhopy; KjyPl;Lj; jpl;lk; 
ii. fhe;jpa jpl;lk;  - Ntshz;ik kw;Wk; fpuhkg; nghUshjhuk; 
iii. ru;Nthjah jpl;lk; - tptrhak;> rpW> Fbirj; njhopy;fs; 
iv. kf;fs;jpl;lk;  - njhopy;kakhf;fk; 
a. i, ii   b. i kl;Lk;    c. iv kl;Lk;   
d. iii kl;Lk;  e. tpil njhpatpy;iy 
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